NOVEMBER/DECEMBER 2020

BMA52/UMA52 — REAL ANALYSIS —1

Time : Three hours Maximum : 75 marks
SECTION A — (10 x 2 = 20 marks)
Answer ALL questions.
1.  Define the characteristics function y, .
HplnGwedr] Ty x4 -epw euanFwm).

2. Define a 1 -1 function.

1-1 srrepu euenmwim).

3. Define a bounded sequence.

aurbL Gsm_eny euenyuwim.

4, Define a Cauchy sequence.

sradl GGTLenT euenFum).

5.  Define partial sum of a series.

e cuflangullen L@ ga(hSena euenruim.
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10.

11.

Give an example of a conditionally convergent
series.

Blubsamen @MmEEGL aflagsE @ TOS5SESTL(H
(.

Define 2.
? QUG T
Define a metric.
QL f&ms auanFuim.
When is a function continuous at ‘a’?
eriGumg e gy ‘@’ -ulle QsmrEflwurs @) m&@ELD?
Define a closed set.
ELPIG Wl SHEUTLD GUEHTUIM).
SECTION B — (5 x 5 = 25 marks)

Answer ALL questions.

(a) If lims,=L and lims, = M, then prove that

Lom. -
}ligisn:L LOHMILD }llilgosn =M eaflev L =M ereun
Hyieys.

Or
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12.

13.

(b)

(a)

(b)

(a)

(b)

Show that the set of all integers is countable.
WP eTa@msatlen S el S5555  eTan

ST ().

If ims, =L and lim¢, = M then prove that

n—»ow n—»ow

lim(s, +t,)=L+M .

lims, =L LOHMILD limt, =M crafled

n—oo n—»o

lim(s, +t,) =L+ M cren fimieys.

Or

Prove that liminfs, <lim sup s, .

n—ow n—©x

liminf's, <lim sup s, erar Himeys.

n—o n—o

Prove that Zl is divergent.
n

zl elfluyid ere Hlmieys.
n
Or

Show that Zx" /n! is convergent Vx e R.
n=0

Zx” In! @mrebd Vx e R oran &1l(Hs.

n=0
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14.

15.

(a)

(b)

(a)

(b)

Prove :

lim([f(x)+g(x)]=limf(x)+1im g (x).

Hmieys :

Im[f(x)+g(x)]=lmf(x)+limg(x).

Or
State and prove Schwarz inequality.
evgaeumredlen Foaflarenoanit gaml Hlmieus.
Prove that the composition of two continuous
functions is again continuous.
g @@ Csmissl sriysetien Gsmliybd e
QamLii&s) smiLy erem Hlmies.

Or

If F, and F, are closed sets in a metric space

M , then show that I, U F, is also closed.

F, womb F, eemer Quifés M- epigw

sanrhiger erafler F; U K, -1b epiqwig) erem s (hs.
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16.

17.

18.

SECTION C — (3 x 10 = 30 marks)

Answer any THREE questions.

If A, A,,.... are countable sets, prove that UAn
n=1
1s a countable set.
AL A,y,.... craTUeT eTaTenflll_§5585 SHeuThIGET  ererfled
UAn -1b eTamTanflL_$5868 SenTLd 6Te Hlmieys.
n=1
If lim¢, =M and M =0, then prove that
n—ow
.1 1
Im—=—.
n—w f M
. - T 1
lim¢, =M womd M#0 eafiled lim—=— cran
n—»ow n—»w tn M
Bmels.
State and prove ratio test.
aldls Camgenarani sl Hlmie,s.
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19.

20.

Prove that p(x, y) = | X — y| 1s a metric.
plx, y)= | x —y| @ Gl Ms erar Hlmies.

Prove that a set is closed < its complement is
open.

Q@ FHETLD ePIgWIg < igen Bl sarbd Smbss) eren
Hmays.
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NOVEMBER/DECEMBER 2020

BMA53/UMA53 — COMPLEX ANALYSIS —1I

Time : Three hours Maximum : 75 marks

SECTION A — (10 x 2 = 20 marks)

Answer ALL questions.

1. Prove:z -z,=2 —-2,.

Bmels 2, =2, =2, — 2,

. . . Z
2. If z,=re and z, =re'”, find =L,
z
2

i6) - 0, . 2 .
z, =ne'" wHMmD 2, =re’” eafle 2—1 SHTEHTS.
2

3. Define a continuous function.
QFTLTES FmienLs euenrwIm).

4.  Define f'(z,).
f'(z,) -&5 cuewmy.
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10.

11.

What is a Laplace equation?

QTLIGTTEV FLOGTLIT(H TEITLIG)| 6T60TE ?

Define a conformal mapping.
@ anriiE L CaHMigsamed uenFLII.
Define critical point.

TMIBENa LieTerl TeTmmeh 6T6men eUen Fulm).

Define a harmonic function.

@engd FTienLI eUETW).

State Cauchy-Goursat theorem.
sradl Camren Cshmseans saml.

Define a simply connected domain.

crafl GeamTibs D TRISLD - cUaTL).
SECTION B — (5 x 5 = 25 marks)
Answer ALL questions.
(a) Prove: |z +2|<|z]+|2).
B |2, +2,] <| 21| +| 2.

Or
2 254



12.

13.

(b)

(a)

(b)

(a)

(b)

Prove : ¢ =Z .

Aneys : %% = 7.

.1z 1
Prove : hm—:E.

z—o1

.1z 1
&: lim—=—.
Hmiay 5 "5

z—1

Or
Show that f(z) =z is nowhere differentiable.

f(2)=z emEb aosull 555500  6Term

FSTL(h&.
Show that u = %log (x* + y*) is harmonic.

1
u= Elog (x% + y%) @ enasamiy eTem STL_(Hs.

Or
Show that w=2xy+3y is harmonic. Find its
conjucate v .
u=2xy+3y @sssniy eran STL(HS. ST
©EHEmT U -85 SHTEwTS.
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14.

15.

(a)

(b)

(a)

(b)

Explain the properties of w =sinz.
W = sIn z -6 LTS aT 6916md @&.

Or

Find the bilinear transformation z=-2, 0,2

into w =0, i, —i respectively.

z2=-2,02me1 w=0,1,-1 <5 waopGu
wrHmib @ Chilue 2 (HLIHOWD STes.

Evaluate ji, where C 1s |z| =2.
C22+3

dz
2z + 3

C eremug |2|=2 erafled I -ar Sy
C

STETS.

Or

With usual notations, prove

F@= = [LO

27 (s-2)%

aupssorer GnluiHsaflerLig

o1 f(9)ds
f (2)_2727%"(3—2)2 erem Hlmieys.
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16.

17.

18.

19.

SECTION C — (3 x 10 = 30 marks)

Answer any THREE questions.

Explain the branches and properties of logz.

log z -6 LT EEETUD FleneTaameTyd 6lleTsEs.

State and prove C- R equation in cartesian
co-ordinates.

C-R swaurhsmer srilleflue sgmmseaid g

Bmeys.

Find the analytic function f(z)=u+iv if

u= Zsin 2x is given
e? +e % —2cos 2x .
LGP D &Ly fR=u+ivyg SITEH0TS,
2sin 2
u cd oran QarH&slLL(HeTerg).

e e ¥ —2cos 2
Find the image of line x =2 under w = l
z

w= 1 e S1p x =2 ereyd Camiigesr 1ADLID STeTs.
z
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20. State and prove Cauchy’s integral formula.

srafludlen Ggrens &GS rs5ams sl Hlime,s.
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NOVEMBER/DECEMBER 2020

BMA54 — STATICS

Time : Three hours Maximum : 75 marks

SECTION A — (10 x 2 = 20 marks)

Answer ALL the questions.

Define linear momentum.

cuenywim : Crflwied 2 Hsid.

Define polygon of forces.

cuengu : ellenaliLiond CameanTib.

Define moment of a force.

auanywim : edlenauller $mLiLSEme.

Define applied forces and effective forces.
cuengum : Lweruml(h ellengser oMb LiLigenL
cllengger.
Define moment of the couple.
auanTwim) : spedlenewrudlen SlmLiLgE men.
255




10.

Show that the forces E, C_Zj,ﬁ acting
respectively at A, C, E of a regular hexagon

ABCDEF , are equivalent to a couple of moment
equal to the area of the hexagon.

@0 @unEg AnmCsrand ABCDEF -& panGw
A C E-é& Geweou@d oNevgsdr @, E)’, EF
9| IiGa memTd S e urlinerelH, FLOLOMGHT
Smlysdneamens Csmawrl  HLpdlananms@ —FOLTETS)
TS ST ().

Define invariance of the single force.

cuenTwm : epevm eflengudler LTHDLSleTEnLD.

Write down the conditions of equilibrium under
coplanar forces.

@@ ser alasufer Ep gwbhlavoular Hlubsmersamar
T(PSIS.

Define centre of mass.

auenwm : QUIM(MHETenLd GHLOWILD.
) @

Define centre of gravity.

euenrwim) : LyelluiriL) epowib.
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11.

12.

(a)

(b)

(a)

SECTION B — (5 x 5 = 25 marks)

Answer ALL the questions.

Find the magnitude and direction of the

resultant of Fl and 1—72

—_— —_

F, oppn F,-ear eflenere| ellensullen ojere]

HOID SHenFenuid: SHrems.

Or

I is the incentre of a triangle ABC. If the
forces, ﬁ, E, IC acting at I are in

equlibrium, show that ABC is an equilateral
triangle.

I crenug) p&CGanantio ABC -6 2 emenwowid. I-6v
Qeweu@n  lemsser ﬁ, TB, IC  erémuee

goflavouie o dreten  erafleo  ABC  ererLig

FOLSS (PSCHTETLD 6Tand ST (HS.

One end of a rope of 20 m is to be fixed to a
telegraph post and the other end is to be
pulled by a man on the ground with a
constant force F. To cause the maximum
effect to overturn the post, at what height
the rope is to be fixed?

3 255



13.

(b)

(a)

2018 Berqperrer suldmmler e(h LIGH SHS5E HbiGudled
QuImESSIUL(HeTerg g6 MLILISGSED Hlovgdler
Coé em weaflgamed F el elensude
@wssiuBdngl. Gumw wpwnsluler alleneareume
2pss sbusws psgiasdE ps  suD

ereueeTe] 2 Wrsdle s L v Geuemr(hib?

Or

Three like parallel forces P, @, R act at the
vertices of a triangle ABC . Show that their
resultant passes through.

(1) thecentroidif P=@Q =R

(1) theincentreif P/a=Q/b=R/c.

e @55 Qean aleassear P, @, R eremLema
w&Gasremd  ABC -an  epermy  (penengafled
Qeweu@deammer. eupdlear  eleere] Nens
Epasar_cupdler eulGug QFwQID eTandHT(Hs.
i) P=Q=R aafle sH&Cam (& gbs).

(1) Pla=Q/b=R/c erefed 2 _drenowild.
Three forces acting along the sides of a
triangle in the same order are equivalent to a

couple. Show that they are proportional to
the sides of the triangle.

4 255



14.

(b)

(a)

(b)

W&Carammsaiien epemmill LssBIsaten euluins
G auflenguiled QFwOLIHD epem cllangseT e(m
FLP G0 Gn & FLOMGTLOM(GLD. SIENEUHET
WP&ECaTamSSlen LssHnISEEhsE g Fowmamama
eTeud ST (Ha.

Or

Forces with components (1, 0), (-2, 0), (1, 1)
act respectively at the points (0, 0), (1, 1),
(1, 0). What is the system equivalent to?

dengsafler smmasar (1, 0), (-2, 0), (1, 1)
craiemau (peppCGw (0, 0), (1, 1), (1, 0) erem
yereflgafler QewouBdearmar. @Qbss el
TEM (G FLOLTGILOTEIG]?

Prove that, if four forces acting along the
sides of a square are in equilibrium, they
must be equal in magnitude.

sginsdlen  Lssmsaier ePlurs  QEwou@LD
Bren@ edleangser sbbleneuded  @mEELCELTE
SMEUSET T satlL FoWMs @)(HéHd Goue(Hib
eTeu 15l mieys.

Or

A uniform ladder of length [ rests on a rough
horizontal ground with 1its wupper end
projecting slightly over a smooth horizontal
rod at a height A above the ground. If the
ladder is about to slip, show that the
coefficient of friction is equal to TEL

5 255



15.

(a)

Qen Hlegdlen 5g I Beraperer epm Frmenm eremt]
BmssliLl (Hererg. S\Gem G pener
Blosdallmbg h 2 wrb Qsmem aipeupliLimen
@eLs soluler g #pCn smissliul(Hererg).
geantl  Bpe|bLuripg iser o gmie)s Gl&Lp
hAI* —h? .
— 5 T STL(h&.

I“+h
D, E, F are the midpoints of the sides
BC,CA,AB of a AABC. Masses m;, my, m,
are placed at A,B,C and masses
M,, M,, M, are placed at D, E, F. If the
two systems have the same mass centre,
show that

m, my ms

M,+M, M,+M, M, +M,’

D E, F eeauemeu AABC-ev BC,CA,AB
Sl ussmseflenr BHUYTals6r.  Hleanmser
M, M,, M, ereuewen A, B,C-& o drerar
wHmid  Blepaer M, My, My erenueneu
D, E, F-é ogdterar. @uewn(h ienlolIL|s@EHLID
@Gy QurmeaTenLd WSmSE OlETamTiy (HLIL6.

m, __ My __ g
My+M, M,+M, M, +M,

eTeud ST (Da.

Or
6 255



16.

(b)

From a solid cylinder of height H, a Cone
whose base coincide with the base of the
cylinder is scooped out so that the mass
centre of the remaining solid coincides with
the vertex of the cone. Find the height of the

cone.
H owpbd Qsmawe dawrn o maverudedl(mnpa)
DABET 2ARSFATSIILGT REHMHEGD  SHgSgend
Qarewt e bl Ceallly erhHé@EnGurg
Baspdrer  Hemogdenr  CQuraETand  @OWLD
gabliler  (pevenLer @S HEGWL.  Falblier
2 WITSMSS STE0Ts.

SECTION C — (3 x 10 = 30 marks)

Answer any THREE questions.

Two forces of magnitude F; and F, act at a point.

They are inclined at an angle «. If the forces are

interchanged, show that their resultant is turned

through the angle.

2tan ™ (M tan gJ .

F, +F, 2

7 255



17.

18.

e ydrafluller F womb F, ojerejerer @)rer(h
clengger GeuouSleamer. ameuger o Camamsslen

FMIHGIGTETS). cllenasenar @LworhobGurg

meusaiear clenere] eleng 2tan ' Mtang
F +F, 2

craorn GCamenrsEleb Sl(pLdLD eTend ST (Hs.

State and prove Varigon’s theorem.

aurflgafen Cspméans sabdl Hlmie|s.

A uniform beam of length [ and weight W hangs

from a fixed point by two strings of length a and

b. Prove that the inclination & of the beam to the
a® - b?

1J2(a® +b*) - 12

horizon is given by siné =

I Berb womd W eeoré Qarewr e Syren

2 gdlponang e Hleveowrer Leraflulallmbg a wHmLD

b Berb Qsrewr @ grhsailamed CsmhiGHng.

Sl L Slelmhg  Siger  smie] 0 @il
a’®-b*

sinf = erem Hlmieys.
12(a® +b*) -1’

8 255



19.

A sphere of weight W resting on a rough inclined
plane of inclination « is kept in equilibrium by a
horizontal sting attached to the highest point of

the sphere. Show that the angle of friction is

greater than % and that the tension of the string

18 Wtang.
2

W blenps Qameant ep(m Camarid smiie] o QETam 6w
o grleenLwl srlgersSlen Ge, Camergdlen o F&lU
Yerafluledlmbgl e e ssrssmed Camssliul () g

soblepeuild  ameusslLl(Hatergl. 2 pmie| Csmewrid

%—g el o flswmeang LHMID UbBS FTsSlen @) (peilans

Wtan% cTans ST (ha.

9 255



20.

Find mass centre using integration
(a) Thin wire in the form of a circular arc.
(b) Lamina in the form of a sector of a circle.

Qgrensudl et LiweTU(HSSH QUTHETend eLoWSenss
HTGHTS.

(=1) Gwavedlw &b eul Lalleh aulgeusHled 2 ararg).
(=) 550 el Lgdleir ol L &CamemrL WIGES)
Ulg UGS I GTETE).

10 255



NOVEMBER/DECEMBER 2020

BMA55/UMA55 — DYNAMICS

Time : Three hours Maximum : 75 marks

SECTION A — (10 x 2 = 20 marks)

Answer ALL questions.

Define relative velocity.

cuanwi : & HangCeusib.

Define conservative field of force.

auanywm : Sfledflder ellengs Harid.
Define trajectory.
cueHTWII : GTHleyeUenT.

Give the magnitude and direction of the velocity of
a projectile.

e oamdurmeflear HasCGoussdear eTe] LOHMID
Slensanl &(mHs.

What is impulsive force?

2 B3 6Nleng GTaTMITe) 6TEImET?

256



10.

11.

When a ball is said to be inelastic and perfectly
elastic?

@ Ubgl erliQumpg) eresSHwhm whmib Beré gniguig)
GTeNTd SamLILI(HLD?
Define central orbit.

GUENTWIM © EDLOWI &HMILITENS.

State Kepler’s laws on planetary motion.
Gareflwsasder Ssmer Catiarfler Bludsamar erpg)s.
What 1s the M.I of a spherical shell about the
diameter?
ML semsls (urmss) ems Carer @euriqem M-I eremen?
Define radius of gyration.
euEnTWIM) : SLp&SIL p,enTy.

SECTION B — (5 x 5 = 25 marks)

Answer ALL questions.

(a) The cars A and B are moving at 60 kmph and
80 kmph respectively. At noon A is west of B
at a distance 40 km. When are the cars
nearest to each other and what is the
distance between them?

2 256



12.

(b)

(a)

(b)

A womb B eeam smiser wpapGuw  wenflds
60 &.8 wpmbd 80 &.65 CoussHéd BamE e
peawTLgele s A, 40 £.15 Qgrenavalled s B-&@
Copdled  Qm&dng. Qe  STISEHD
eMI&LETaTn MHHHCEs rEUTLpg @H&HED
wHmId  AeupdnEg el Cuwrer  Csrameay
GTGUTGIT?

Or

Show that in a conservative field of force the
force is the gradient of a scalar pint function.

SPlefleroor ellansssarsdled eflenswmeans @
Sjerell YereflF gmimder smiielSlgn erens s (hs.

Find the range of a particle inclined on a
plane.
sengdlen L5g Fmibgierer e Gisatlen eiFflenand

STETS.

Or

If a particle is projected with an angle «.
Over a triangle with base angle B and C
then show that tana =tan B+tanC.

@ sisar o -aipCaramsdear B wpmid C oiqsH
Caremmsearns CsraL  p&Caramsler G

afeliu(pCurg tana=tanB+tanC erens
FSTL(h&.

3 256



13.

14.

(a)

(b)

(a)

(b)

Find the velocities of two smooth spheres
after a direct impact between them.

@nar(h  eupeupliunar  Garermseten  Chirigd
STESSH DS Y SieupMpdl e Cuiwimesr
SeansCoussamss Sranms.

Or

Find the change in kinetic energy due to
oblique impact between two smooth spheres.

@rewnr(h  euelpliumer  CarernigEhsdlanGu
smiie)s Srsasame @uwss ,Hmeile erHLI(HLD
OTDHDESH N6 &TEHTs.

Show that the motion of a particle under a
central force is coplanar.

ebweilamsuier S e gsalar  QuESLD
E(HSETLD 6TES STL_(H&.

Or

Find the differential equation of a central
orbit in p —r coordinates.

p—1r SQunsaile eww eulLeewTuiler euamswd

FLOGTLITL_Iq DTS STEHTS.

4 256



15.

16.

17.

18.

(a) State and prove parallel axes theorem.
Gewan 21555 Cappsams el Blnies.
Or

(b) Find the M.I of a lamina in the form of a
quadrant of an ellipse, about the major axis.

QpLL&Slenarl Qurmisg) Bereul L gdletr
sreou@duder emwlibgerer saliger M.I -o&

STETS.

SECTION C — (3 x 10 = 30 marks)

Answer any THREE questions.

Find the components of velocity and acceleration
of a particle in the radial and transverse
directions.

@@ gsaten FanaGousd wHMD WPHESSIH 6T Famisamer
ST LOHMILD GN&E SHensuiled smes.

Prove that the path of a particle is a parabola.

ermlCummafler Lmeng e LiTeuameTILD 6TET Ihlmies.

A smooth sphere of mass ‘m’ collides obliquely
with a fixed smooth plane with a velocity ‘v’
inclined to the normal to the plane at an angle « .
Find its velocity and impulse imparted to it.

5 256



19.

20.

m -Bleppwjarer ¢h eupalpliLiner Camard Hlapevuwimer
QUEIPLILITGT  SETHFIL T  FTUGUTS U 66D
SHansCaissgiLen o -Caransder gord CemCsmiqmes,
smieins  Cuorgdlng. oigar  HaosGousd LOHMID

DASATME FHLI(HID SHTEHSHETENEUEM WIS SITEH0TS.

Find the differential equation of a central orbit in
polar co-ordinates.
pear wnigeiled enw eul L enemuller cUEHWE

FLOGTLITL g 6D EITE &HTEu0Ts.

State and prove the perpendicular axis theorem.

Qen@sgl oiFs Cappsems sl Hlme,s.

6 256



NOVEMBER/DECEMBER 2020

BSMA33/USMA43 — LINEAR
PROGRAMMING

Time : Three hours Maximum : 75 marks

SECTION A — (10 x 2 = 20 marks)
Answer ALL questions.
Define feasible solution.
Qensbs Sreneu-cuanywim.

Construct the dual of the following primal
problem.

Maximize :
Z =%, + X5+ 2%,
S.T.
2x, —3xy+2x, =4
X, +Xg+%526
4x, —3x5 —Hxq =1
Xy, X9, X320
EDSTEILD (PSETEMLD FETEE MG @) (HLOD HTEHTs.
BuQuflgrses
Z =%, +Xy+ 2%,
S.T.
2x, —3xy+2x, =4
X, +Xg+%526
4x, —3x5 —Hxq =1
X1, X9, X3 20

263




10.

Define basic feasible solution of T.P.

T.P wler iqliLien Qelisss Sieneu cuenyuwimy.
Write the mathematical model of
transportation problem.

CurEGeaursss samsdle samflg wrdfepw erpg).
What is a assignment problem?

REIGE_ (DG SEHSG; TG TED GTEITE?

Differentiate between the assignment
transportation problem.

the

and

RFIGEL(HE sasE LOHND CUTEGUISIHE SMTEMS

CaumLhsss.

Define strategy.
auenTwm) : 2 5.

Define optimal strategy.
2 $510 2 SHlenil cuenFwim.

What is simulation?

umedliiy 2 5 (simulation) erermméd ereimen?

Write any two importance of simulation technique.

umellliy 2. B LSSlerm (pSHSSHIeuSamS 6T(LpS)s.
2

263



SECTION B — (5 x 5 = 25 marks)

Answer ALL questions.
(a) Find the maximum value by Graphical
method.
Z =2x, +3x,
St
%X + x4, <30
Xy 23
Xy <12
X, =%, 20
0<x, <20
auangLIL (panpuiled BLIGLIH wSlienLid smeirs.
Z =2x, + 3x,
S.t
X, + x4, <30
Xy 23
Xy <12
X, =%y 20
0<x, <20

Or
(b) Explain Graphical method.
UETUL (Lpepmenw 68l aTs @

3 263



12. (a) Find the feasible solution for the following
transportation problem using North-West

corner method.

Wi We Ws Wi Supply

Fy| 14|25 45| 5 6

Factory F2| 65| 25 | 35 | 55 8

F;135| 3 | 65|15 16

Demand 4 7 6 13 30

uLCopE  epoe  peperwll  UwetUhSS
Eparanid CUTEGUTSE SasHDNG QasbHs
Ereneud Srewrs.

Wi W Ws Wi euprise

Fy| 14 | 25145 | 5 6

Qsmfpsreney F2 | 65 | 25 | 35 | 55 8

Fs| 35| 3 | 65|15 16

Coena 4 7 6 13 30

Or

(b) Explain Vogels approximation method.
e&dler Gsmrmu (penment eSleur.
4 263



13.

(a)

A sales manager has to assign 4 salesman to
4 territories. The possible profit for each
salesman in each territory is given below.
Find the assignment that maximizes the
profit.

Territories
A B C D
115 3 1 8
Salesman 2|7 9 2 6
3|6 4 5 7
415 7 T 6

@@ ednumer Goeomert 4 GrmpdluinisErss
4 dpumenurarisemer  @#F&ERH  CFUw
Ceuemr(Hid. geuGleumm rmhSlwsSenid
ealCleur@m  ellbhuemeanuTeT(h&EE@GD  FTSHWTeT
orubd  §Cp Csr@ssiul(Heararg. @TUSMS
BLQUAlgTEED gIsEL ML & Srams.

Gyl
A B CD
115 3 1 8
pueerwmert 2|7 9 2 6
316 4 5 7
4|15 7 7 6

Or
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(b) What 1s the travelling salesman model?
What are its practical applications? Explain
the role of branch and bounding to solve the
travelling salesman’s model.
vwent elpuenerwimert wrdlfl erermTd eTevTen?
DS BEOL(PEDH LIWLGTUT(H&SET WTenel?  LiLEwT
puenanurariger wrdflew SriiusnE Hever
wHmib Wenenribler Lkiens afleur.

14. (a) Given the game G with the following payoff

matrix.
Player B
B1 B
Player A A1 2 6
A2 -2 A

(1) Show that G 1is strictly determinable,
whatever A may be.

(1) Determine the value of G .
e euphise el er ellaerwm (B G

Qarhssliul (HeTerg).
eNewemwim_Lmer B
B Be
fewerwum’_Lmerr A Al 2 6
A2 2 A

1) A ahs  LHILSERS@GD S Liors
Blrenruil&ss salq g eTar Hlmie|s.
1) G Wen wFliUS HTERTS.
Or
6 263



15.

(b)

(a)

Al 30 2
Menerwim_Lreri A A2 4 14
A3 6 9

Solve the following game.

Player B
Al1| 30 | 2

Player A A2 | 4 | 14
A3 | 6 9

Eparanibd elleeruml e & Srés.

Aewerwrl_Lmeri B

Customers arrive at a service facility to get
the required service. The inter-arrival and
service times are constant and are
1.8 minutes and 4 minutes respectively.
Simulate the system for 14 minute.
Determine the average waiting time of a
customer and idle time of the service facility.

Coenauwimen Gaencuamwil QumEISDHE
aumgsesteriser e Csmeu Hlavewgsdlen
UmSDTTEET. 26T oumens wLHMID  Caameu
Crymiger wrHrsg LONL WenGur 1.8 Hlibl, 4
Bl . 14 HlblmseEpsE  Csm@lien
ugedlliy 2.5 STes. 6 eumlgdanduwimeriflen
grrai TS LI CrrgensuLb Ceanau
Blenauwisslen Couemeowihm CrrsensuLb
FeTsS (ha.

Or
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16.

(b) Explain Monte Carlo method and write the
situations where these methods are useful.

ety TG (panpenw efleTéEs LHHID QbS
perpudled LWETLIHILD GHLPIHlaneSamerT 6T(Lpgis.

SECTION C — (3 X 10 = 30 marks)

Answer any THREE questions.

Show by the simplex method that the following
problem has an unbounded optimal solution.

Maximize :
z2=2x +x,
S.t
X, — X%y <10,
2x, —x, <40,
Xy, X9 2 0.

Epsmamid sarsHHE eurbunm 2SS ey 2 awr([H ere
Siblienden (pappuded Hlmie,s.
BUQuflsrss
2 =2x +x,
S.t
X, — x5 <10,
2x, — x4 <40,

Xy, Xg 20.
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17. Solve the following transportation problem.
D1 D: Ds Ds Ds Supply

(&%) 68 35| 4 | 74|15 18
Q- 57188 9| 3| 8 17
Qs 91 (60| 75|45 | 60 19
Q4 52 |53 (24| 7 | 82 13
Qs 51118 |82 |13 | 7 15
Demand 16 18 20 14 14

Epsramib CUTEGISE SaTEMSS STds.
D: D: Ds Ds Ds ouprise
Q1 68 35| 4 | 74|15 18
Q2 571881 9| 3 | 8 17
Qs 91|60 | 75|45 |60 19
Q4 52 |53 24| 7 | 82 13
Qs 51118 (82|13 | 7 15
Coeweas 16 18 20 14 14

18. Solve the following assignment problem for
minimum total cost.

1 2 3 4 5 6

A1 |44 67 41 53 48 64
A2 |46 69 40 45 45 68
As |43 73 37 51 44 62
A4+ |50 65 35 50 46 63
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19.

L&y Quorss

EMENS S168.

QeeveihE &Epsmamibd @H&S.(H

strictly

1 2 3 4 5 6
A1 |44 67 41 53 48 64
A2 146 69 40 45 45 68
A3 |43 73 37 51 44 62
Ay |50 65 35 50 46 63
Find the value of the games shown below. Also
indicate whether they are fair
determinable.
()
B
1191610
Al 2|3 |8 -1
-5 |-2110|-3
714 |-2|-5
(b)
B
6 |-2|-3]| 8
Al-1|-2|-7T]0
8|19 |-6|-7
9|5 |-T]|7

10

263



20.

ECip Qar@&sLiul_[Herer elenerwim’_(Haefer
wdlliysmers  smaws.  Co@id el  FlLLLors
Blraruil&ssnqgWsT? g HWmumeamgT?  eTand
ST (H.

(1)
9 0
Al 2 -1
—5|-2|10|-3
714 |-2|-5
(=)
B
6 |—2|-3
Al-1|-2]|-7
9 |-6|-7
7|7

Three points are chosen at random on the
circumference of a circle. Find by Monte Carlo
method the probability that they lie on the same
semi-circle.

Q@@ UL gdler anmereiled FweumiliL (penmudled epem)
yeraflger GCampshssiulLar el @GCr e
al Ll mbaisn@ =fu Flspssme Ty
sTiGem (penmulled smevs.
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NOVEMBER/DECEMBER 2020

BSC53/UESC53A — DATA MINING

Time : Three hours Maximum : 75 marks
SECTION A — (10 x 2 = 20 marks)

Answer ALL questions.
1.  What is Data cleaning?
2. Write a any two data reduction?
3. What is Data Processing?
4. List and four data mining techniques.
5.  What is Data Warehouse?
6. Define OLAP.
7.  What is sequential pattern mining?
8.  What is multi level?
9. What are the applications trends in data mining?

10. What are the advantages of Data mining?
297



11.

12.

13.

14.

15.

(a)

(b)
(a)

(b)

(a)

(b)

(a)

(b)
(a)

(b)

SECTION B — (5 x 5 = 25 marks)

Answer ALL questions.

Explain about the Data mining primitives.
Or

What are the major issues in Data mining?

Explain about the types of cluster analysis
methods.

Or

Write about the basic descriptive data
summaries.

Explain the Data warehouse multi-
dimentional.

Or

Compare OLTP and data warehouse
systems.

Write a short notes on mining Quantitative
Association rules.

Or
Give the Characteristics of OLAP.

How to choose a data mining system?
Or

Write a short note on Statistical data
mining.
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16.

17.

18.

19.

20.

SECTION C — (3 x 10 = 30 marks)

Answer any THREE questions.

Explain about the Architecture of data mining
system.

Discuss about the Data integration.

Briefly and explain the — Three-Tier data warehouse
Architecture.

Explain about the Mining Multilevel Association
rules.

Explain about the Data mining Applications.
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NOVEMBER/DECEMBER 2020

BCA32/UCA43 — E-COMMERCE

Time : Three hours Maximum : 75 marks

10.

SECTION A — (10 x 2 = 20 marks)

Answer ALL questions.
Define — E-Commerce.

What are the elements of Electronic Commerce
applications?

Define — Computer-Based Telephony.
Write a note on Network access points.
What is a Biometric system?

Define Firewalls.

Mention the three distinct classes of E-Commerce
applications.

List out the types of Electronic payment systems.
Expand ACH.
What is an Electronic white page?
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11.

12.

13.

14.

15.

(a)

(b)

(a)

(b)

(a)

(b)
(a)

(b)

(a)

(b)

SECTION B — (5 x 5 = 25 marks)

Answer ALL questions.

Explain the Electronic Commerce framework
with neat diagram

Or

Compare  Traditional with  Electronic
Business Applications.

Write short note on Components of the
I-way.

Or

Explain the various stages of Internet
growth.

Discuss on Data Security.
Or

Describe the Pretty Good Privacy.

Explain the Consumer-Oriented E-commerce
Services with suitable example.

Or

What are the benefits of Hypermedia
documents? Discuss.

Describe the Work-Flow automation and
co-ordination.

Or
Discuss on an interactive Electronic
Commerce catalogs.
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16.

17.

18.

19.

20.

SECTION C — (3 x 10 = 30 marks)

Answer any THREE questions.

Discuss on the anatomy of E-Commerce
Applications.

Explain in detail on Business of internet
commercialization.

Give an overview on Network Security and
Firewalls.

Explain the Smart Cards and Electronic Payment
Systems.

Narrate the Supply chain management in
E-Commerce.
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BCA33 — RESOURCE MANAGEMENT

NOVEMBER/DECEMBER 2020

TECHNIQUES

Time : Three hours Maximum : 75 marks

® =N o o

10.

SECTION A — (10 x 2 = 20 marks)
Answer ALL questions.
Define the term — Basic feasible solution for a LPP.

Define the term — Objective function of the general
LPP.

How can you handle unbalanced transportation
problem?

Mention the name of the method of finding the
solution to an assignment problem.

Define the term — Total elapsed time.
What is meant by No passing?
What is Replacement decision?

State the conditions under which group
replacement is superior to individual replacement.

Write down the formulate for computing
(a) Earlier start, (b) Earliest finish time of an
activity of a project.

Given any two applicants of CPM/PERT.
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SECTION B — (5 x 5 = 25 marks)

Answer ALL questions.

Explain the graphical method of solving a
LPP involving two variables.

Or
Solve the following LPP by graphical method.
Minimize Z =20x, +10x,
Subject to x, +2x, <40
3x, +x, =30
4x, +3x, > 60

x,%, 20
Obtain the initial Basic Feasible Solution of

following transportation problem by North
West Corner Rule.

Di D2 Ds Ds Supply

O: 8 4 1 5 14
O: 8 9 2 7 16
Os 4 3 6 2 5
Required 6 10 15 4 35
Or

2 587



13.

(b)

(a)

(b)

Solve the following assignment problem.

Job
1 2 3 4 5
A 8 4 2 6 1
B 0O 9 5 5 4
Person C 3 8 9 2 6
D 4 3 1 0 3
E 9 5 8 9 5

Six jobs go first over machine I and there
over machine II. The order of the completion
of jobs has no significance. The following
table gives the machine times in hours for six
jobs and the two machines.

Job Nos. 1 2 3 4 5 6

Time on Machine 1 | 5 9 4 7 8 6

Time on Machine 2 | 7 6 8 3 9 5

Find the sequence of jobs that minimizes the
total elapsed time to complete the jobs.

Or
Solve the following Sequencing problem
giving an optimal solution when passing is
not allowed.

A|B|C|D|E
Machine M: 10 12| 8 | 15| 16
Machine M2 3 2 4 1
Machine M3 5 4 7
Machine My 14| 7 | 12| 8 | 10
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14. (a)

(b)

What are the factors affecting the
replacement problem? Explain.

Or

A machine owner finds from his past records
that the costs per year of maintaining a
machine whose purchase price is Rs.6,000
are as given below.

Year

1 2 3 4 5 6

Maintenance cost (Rs.) | 1000 | 1200 | 1400 | 1800 | 2300 | 2800

Resale value (Rs.) 3000|1500 | 750 | 375 | 200 | 200

Determine at what age is replacement due?

15. (a) A small project consists of 12 activities, for
which the relevant data are given below.
Activity A|B|C|D|E|F|G|H| I J | K| L
Proceeding
-|-|-|BC|A|C|E|E|DFHl E |1J| G
Activities
Duration
91| 4 7 8 715110 8 6 9 10| 2
(Days)
Draw the network and find the Project
completion time.
Or
(b) Write down the procedure to find PERT

calculation in a network.
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16.

17.

18.

SECTION C — (3 x 10 = 30 marks)

Answer any THREE questions.

Use Simplex method to solve the following LPP.
Max Z =4x, +10x,

Subject to
2x, +x, <50

2x, +5x, <100
2x, +3x, <90

x,%, 20

Solve the following Transportation problem.

D: D: Ds Ds Supply

S1 8 4 1 5 70
N 8 9 2 7 55
Ss 4 3 6 2 70

Demand 8 35 50 45

Determine a Optimal sequence of jobs, minimum
elapsed time and idle time of machines (in hrs) for
the following.

Machines
Job A B C D E F
1 19 8 8 3 11 24
2 18 6 9 6 9 18
3 12 5 8 5 7 15
4 20 5 3 4 8 11
5
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19.

20.

The cost of a new machine is Rs.5,000. The
maintenance cost during the nth year is given by
M =Rs.500(n-1) where n=1,23.. 1if the

discount rate per year is 0.05, after how many
years will it be economical to replace the machine
by a new one?

A small project is composed of seven activities
whose time estimates are listed in the as follows:

Activity to t, L
1-2 1 1 7
1-3 1 4 7
1-4 2 2 8
2-5 1 1 1
3-5 2 5 14
4-6 2 5 8
5-6 3 6 15

(a) Draw the Project network and identify all
the paths through it;

(b) Determine the Expected project length;

(¢) Calculate the Standard deviation and
Variance of the project length;
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(d)

What is the probability that the project will
be completed:

(1) at least 4 weeks later than excepted
time?

(1)) no more than 4 weeks later than
expected time?
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NOVEMBER/DECEMBER 2020

BCA51 — MOBILE APPLICATIONS
DEVELOPMENT

Time : Three hours Maximum : 75 marks

SECTION A — (10 x 2 = 20 marks)

Answer ALL questions.
1. Name any four mobile Operating Systems.
2. What is meant by Android emulator?
3. List out the components of Eclipse IDE.
4, Define an Activity.
5. State the purpose of a Content Provider.
6. How to manage Broadcast receivers?
7.  Mention the significance of Alert dialogs.
8.  What is the use of a Frame?
9. Give examples for Android games.

10. Write the applications of Phonebook.
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11.

12.

13.

14.

15.

(a)

(b)

(a)

(b)

(a)

(b)

(@)

(b)

(a)

(b)

SECTION B — (5 x 5 = 25 marks)

Answer ALL questions.

Explain the android application framework
in detail.

Or
Describe Android Runtime and Dalvik VM.

Discuss on Debugging with DDMS.
Or

Write short notes on Intent filters.

What is binding and querying Android
service? Explain.

Or

Exemplify Database applications.

Discuss on option menu and pop-up menu.
Or
Summarize the attributes of Android

layouts.

State and explain Tip calculator app.
Or

What 1s the need for live application
development? Explain.
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16.

17.

18.

19.

20.

SECTION C — (3 x 10 = 30 marks)

Answer any THREE questions.
Explain the History and features of Android.

Elaborate on working with Emulator and Smart
Devices.

Write a detailed note on SQLite and data analysis.

Explain the Lists and notifications with suitable
example.

Discuss on Doodlz app and Weather viewer app.
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NOVEMBER/DECEMBER 2020

BCA52 — OPERATING SYSTEM

Time : Three hours Maximum : 75 marks
SECTION A — (10 x 2 = 20 marks)

Answer ALL questions.
1. Define the term — Operating System.
2. What is Process?
3. Define the term — I/O Burst cycle.
4, List out the four types of Scheduling algorithms.
5. Define the term — Memory partion.
6. What is Protection?
7. Define the term — Virtual memory.
8. What is Segmentation?
9. Define the term — Acyclic-graph directiories.

10. What are the two components of Disk scheduling?
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11.

12.

13.

14.

15.

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

SECTION B — (5 x 5 = 25 marks)

Answer ALL questions.
Explain the Process Control Block with neat
diagram.
Or
Describe the Classification of Operating
System.
Write short notes on Scheduling Criteria.
Or
Describe about the basic concept of Deadlock.

Explain the Logical and Physical address
spaces.

Or

Discuss on Memory allocation.

Write short notes on basic method of Paging.
Or
Discuss on Inverted Page table.
Describe the Tree structured directories with
neat diagram.
Or

Discuss on LRU page replacement with
suitable example.
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16.

17.

18.

19.

20.

SECTION C — (3 x 10 = 30 marks)
Answer any THREE questions.
Ilustrate the Process Scheduling.

Describe the Deadlock avoidance algorithm with
suitable example.

Discuss on the basic concept of Memory
management.

Explain in detail the concept and performance of
Demand paging.

Discuss on various Disk scheduling algorithms
with example.
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NOVEMBER/DECEMBER 2020

BCA53 — DATA COMMUNICATION AND
NETWORK

Time : Three hours Maximum : 75 marks

SECTION A — (10 x 2 = 20 marks)

Answer ALL questions.
1. List out the two types of Transmission.
2. Define Protocol.
3. What is flag byte?
4.  State the use of FDDI.
5. What is Static Algorithm?
6.  Define Congestion Control.
7. Expand TSAP.
8. What is Marshalling?
9.  What does MIME and SMTP stands for?

10. What is WAP?
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11.

12.

13.

14.

15.

(a)

(b)

(a)

(b)
(a)

(b)

(a)

(b)

(a)

(b)

SECTION B — (5 x 5 = 25 marks)

Answer ALL questions.

Discuss on characteristics of Multimedia
presentation.

Or
Write short note on:
(1) Coaxial Cable.
(1) Twisted Pair.

Give an overview on different types of Text.

Or
Describe about the Gigabit Ethernet.

Distinguish  between Broadcast and
Multicast routing.

Or

Describe the general principles of Congestion
Control.

Discuss on Multiplexing.
Or

Write short notes on TCP Timer
Management.

Elaborate on Video on Demand with neat
diagram.
Or

Discuss on Simple Mail Transfer Protocol.
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16.

17.

18.

19.

20.

SECTION C — (3 x 10 = 30 marks)

Answer any THREE questions.

Discuss on Guided Transmission Media.

Write a detailed note on Data link layer Design

issues.
Discuss on Internetworking in detail.
Describe — User Datagram Protocol.

Explain about the Wireless Web in detail.
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NOVEMBER/DECEMBER 2020

BSCA34 — DESIGN AND ANALYSIS OF
ALGORITHMS

Time : Three hours Maximum : 75 marks

SECTION A — (10 x 2 = 20 marks)

Answer ALL questions.
1. Define the term — Flow chart.
2. What is “Big — O” notation?
3. Define the term Merge sort.
4. Mention the purpose of partition algorithm.
5. What are weighted trees?
6. Define the term — Minimum — cost Spanning Tree?
7. What is ‘Principle of optimality’?
8. Define the Traveling salesperson problem.
9. What is Binary tree?

10. Define the term — Backtracking.
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11.

12.

13.

14.

15.

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)
(a)

(b)

SECTION B — (5 X 5 = 25 marks)

Answer ALL questions.

Discuss on Recursive algorithms.
Or
Write a short note on Primality testing.

Explain the algorithm for Straight forward
maximum and minimum.

Or

Give an overview on Selection sort.

Explain the concept of Tree vertex splitting.
Or

Discuss on Single Source Shortest paths
algorithm.

Describe the All pairs shortest path problem.
Or
Write a short note on Reliability design.

Explain the Depth first search and Traversal
technique for graphs.

Or

Give an overview on Graph coloring.
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16.

17.

18.

19.

20.

SECTION C — (3 x 10 = 30 marks)

Answer any THREE questions.
Explain the Time complexity with an example.
Discuss on Binary search algorithm.
Describe the Prim’s algorithm.
Write a detailed note on 0/1 knapsack problem.

Explain the concept of Hamiltonian Cycles with
examples.
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NOVEMBER/DECEMBER 2020

BCH51/BIC51 — INORGANIC
CHEMISTRY -1

Time : Three hours Maximum : 75 marks

SECTION A — (10 x 2 = 20 marks)

Answer ALL questions.
Define halogen.
Camemaeir cuenuImi.

Write the structure of hypochlorus acid and
perbromic acid.

eman1Gur@Cermrev  ojfleod  wHmID  CQu HCymAE
SBlSI 6T aUlg UL 6T(LPGIS.

Define coordination number.

DIMETE| ETEO0T GUETWIM.

Write the formulae of the following compounds.
(@ [Cr(H,0)]cl, () Na,[CrOF,].
Epsar Gs wrigafler eumiium 14 eeT 6eT(Lpg)s.

(<) [cr(H,0)]cl, (<) Na,[CrOF,].

619




10.

Define EAN rule.
EAN &9dlenw cuenyuwimy.

Write the hybridisation for the following
compounds.

@ [Ni(CO),]
®)  [Ni(CN), .
Epsar Cs wrigallen @Qarslionu r(pgis.

(=) [Ni(cO),]

(<) [Ni(ON),J".

Write any two applications of quantitative
analysis of coordination complexes.

Siameane| Cs wmsafler ereudu@liumieier gGCseaib
@rart(h LWeTUT(H&Smer 6T(Lpg)s.

Write the structure of [CO,(CO),].
[CO,(CO), |-u96im g euemiorianLs (SIS,
What is an amorphous solids?
cuaTWEMallgeUDMH ST GTRTMTE GTETET ?

State Bragg’s law.
Gyrsen eldlenw samis.
2 619



11.

12.

(a)

(b)

(a)

(b)

SECTION B — (5 X 5 = 25 marks)
Answer ALL the questions.

Write note on Cyanogens.

swCrmeen LM @GOILL euams.
Or

Discuss about the preparation and properties
of chlorine trilfluoride.

@Cermiler  Ceppl@Epepyl  gwrdlly  Hmibd
UerTL|EeneT cileumdl&s.
Give note on coordination isomerism.

POERE@assD LrHHub ubH GHLY Sms.
Or

Which type of isomerism exhibited by the
following isomers?

G [cr(NH,),][Cr(CN),] and
[Cr(NH,), (CN),] [Cr(NH,),(CN),]
(i) [pt(NH,),Br,]Cl, and [pt(NH,),Cl, Br,

Epasetr LOIT(D ) W1 & 6T eThS GUEHSLITEIT
wrholwkigmer GleueflLi(hsgSlermer.

G  [Cr(NH,)|[Cr(CN),] wpmid
[Cr(NH,), (CN),] [cr(NH,),(CN), ]
() [pt(NH,),Br,]Cl, wpmib
[pt(NHs )4 Cl, ]Bl"z
3 619



13.

14.

(a)

(b)

(a)

(b)

Calculate the CFSE and magnetic moment
for the following complexes using CFT.

() [Fe(CN),]" @) [Mn(H,0),}"
ugslife Gasrlium’e vwearu®sS Spseari
Cs wmgafler LgsiyL Hoowrs@ OO
HMID &Mhs SHUy SHnamar sausd(Hs.
G [Fe(CN),]" @Gi) [Mn(H,0), ]

Or
Explain about the Sidwick concept of effect
atomic number.
Slelsdler  Hlay am  erewmr  Camliumlient
ellemd: @ s.

Explain the applications of co-ordination
compounds in qualitative analysis.

uerud u@lurieler evemeld Cg wrhisafler
LweTum(hasemer all6md@s.

Or

Describe the bonding and hybridisation
structure of [Fe(CO),].

[Fe(CO), ]-war Qeavanriiy whmb @eméseli

aulgeuablianL afleuss.
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15.

16.

17.

18.

(a) Discuss about the structure of Wurzite.

@ &l lgar aulgeiamblienu eileums).
Or
(b) Explain about the Frenkle defects.

Lrmiidler @enpurh udm elers@s.
SECTION C — (3 x 10 = 30 marks)

Answer any THREE questions.

Give the geometry, preparation and properties of

Todine penta fluoride.

S| Cuimg el LIGTL_TLIeehanTig 6T, GuiqeUenLDLIL]  SuImilLiL
OHDID ASET LIGHTL|SMETE &H(Hs.

Explain about the geometrical isomerism in four

coordinated complexes.

Smeana| et Bren@ Oarar, GF whiseaflar eulgeu

LrHOWBIGS®T 696TsEHs.
Discuss briefly about the crystal field splitting of
d-orbitals in octahedral complexes.
crarpdl  Cs wrsafler -, GLreler  LigslIL®
Qerliy upm elfleurs eSleurl.
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19.

20.

Describe the following :
(a) Estimation of Aluminium using oxine.

(b) Bending and structure of [Mn,(CO),]
complex.

Epsareupern eleuflés.

(=) ysmFMLO Lweru(hiss) sl deaflwusamns
eTen U9 (.

(<=4) [MnQ(CO)lO] Gs wgdenr  Gevawriiy  WwHMID

GUlqEUEMLDLILY.

Explain the following terms

(a) Crystal structure of NaCl.
(b) Face-centered cubic.
Epseam_cupenm cllaTs@s.

(=) NaCl —uQerr LigseugeuamLiL

(<) WPsLL LW STFFg)Fb.
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NOVEMBER/DECEMBER 2020

BCH52/BIC52 — ORGANIC CHEMISTRY-I

Time : Three hours Maximum : 75 marks

SECTION A — (10 x 2 = 20 marks)
Answer ALL questions.

1. Write the chemical equation for the osazone
formation.
@grtarer o (heunsssdler Ceoudlsd  gFwemumeni
TG

2. Mention the uses of glucose.

&EpCamdler Lwersamans @m0 s.
3. Assign R and S configuration to the following :
(a) CH,(CH,),CH,
(b) CHS(CH2)2§H0H3
CH,

(0 CH,CH-CH-CH,
L
CH, CH,
(@ (CH,), -C-CH,CH,
620




Epssam_araundeE R wpmibd S oiewlienu Bimey.
(=) CH,(CH,),CH,

(=) CH3(CH2)2(|JHCH3
CH,
(@) CH,CH-CH-CH,

o
CH, CH,

() (CH,),-C-CH,CH,

Assign E or Z configuration to each of the
following compounds :

Me\ /H Br \
(a) C=C (b) /C=C

\
g’ a1 I H

y, C

Epssam_araundn@ E @idwwg Z siamwliemu Hiney.

Me\ /H Br\ /C
(<=1) C=C (-) C=C
i’ al 17 g

Mention any two uses of nitro alkanes.

bl Crm - Y oCaarsaflar gCsepd @@ ULweTHameT
GINTAICN
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10.

11.

Write the chemical equation for the cannizaro
reaction.

sanaflerCrr elenanssrear Coudld FwarUT el eT(Lpg).

What is Dihedral angle?

@ pevers CaHTewTdD GTETmTEL 6T6T6 ?

State the difference between conformation and
configuration.

QUlgel QUF el LHMID AHeLIL| 6reTLeTe Hml6
Ceaumum_enL Flmiey.

State Huckel’s rule.
ansdlaller ellglenw Hlmiey.

Write the structure and uses of thiophene.
asCumiaier el HMD LWETEMET 6T(LpS).
SECTION B — (5 X 5 = 25 marks)

Answer ALL questions.

(a) Write a note on reducing and non-reducing
sugars.

RHEGD LOHND @O&STS & Saay LUHH @Gl
T(PSIS.
Or

(b) Discuss the reactions of glucose.

GErCanslear Coudl elleanansar @mhsg efleurd.

3 620



12.

13.

(a)

(b)

(a)

(b)

Describe in detail the Fischer’s projection
formula for planar representation of three
dimensional molecules.

g sarsdle WrHldsgieus u@OSgD wlufbrer
epsgamsaier Yan HiL GsHrsams odlfleurs
elleurfl.

Or

Prove that the presence or absence of chiral
carbon atom in a molecule is not the
necessary and sufficient criterion for
existence of optical activity.

@ofl  sPOHOID  LETUEG @B possable
& oowpn  &T uer  @@UuGsT  eg
@aoersCsr  Gurgiomear LOHMID s wbTeT
STIETLONGTE| cTaTLIenS HlemLi&eeLb.

What is meant by 1, 3-diaxial interaction?

L W55 G T L eTarmmed eremer ?

Or

Describe geometrical isomerism along with
cis-trans syn-anti and E-Z notations.

Sav Lyrerev wopmid Her erdfl @GDluIH&Cerm(h
aulgelilwed & LGS serenwanw efleurl.

4 620



14.

15.

16.

17.

(a) Discuss the mechanism of  Aldol
condensation.

QOLTD Gn&ssSlen ellenar auflenw efleurd.
Or

(b) Explain the preparation and properties of
Nitro alkanes.

bl Crr o oCaarsailer  gwumfiy  wHmb
uewTLseer efleufl.

(a) Write the preparation and properties of
pyridine.

il efler swmiliy whmb uerLsamer afleu.
Or
(b) Discuss the Fischer-Indole synthesis.
Yoy —@arCLre Qgm@ly wpeanaw afleurs).
SECTION C — (3 X 10 = 30 marks)
Answer any THREE questions.

Explain the reactions and structural elucidation of
sucrose.

&&Crrflen ellenansaner cllersdl s Lanwlilg Csaflaney
efeurl.

Discuss the optical activity in allenes and
spiranes.

Sjevadenser wHmb everuCremey gafl FEPHMID LaTEnL
clleumg).

5 620



18.

19.

20.

Explain the conformational analysis of n-butane
with energy diagram.

n-GyGLeafler  egor s  yuelewar <y Hmed
uenTUL S a1 edleuil.

Discuss the mechanism of the following reactions.
(a) Knoevenagel condensation

(b) Michael addition reaction.

Epsaramid elaarsafler ellener cuflanw elleurd.

(<) CrrauCpser @Gm&sid

(<) owsGash G g allanar.

Explain the following synthesis.

(a) Skrap Quinolone synthesis.

(b) Bischler-Napieralsky syntheses.
Epsaramid QMm@ (papsamer afleurl.
(=) evdlpmi—@uiCearmellen Qs (penm
(<) Wder —pmiradsl Qam@ly wpean.

6 620



NOVEMBER/DECEMBER 2020

BCH53/BIC53 — PHYSICAL CHEMISTRY -1

Time : Three hours Maximum : 75 marks
SECTION A — (10 x 2 = 20 marks)
Answer ALL questions.
1.  State Raoult’s law.
Tejol elSlenw gmmis.
2. What i1s meant by missible liquid? Give an
example.
WPPaIGID  FO&HHIalgW  FeD 6T  GTeTe ?
T(HSSIEST(H H(HS.
3. What are the Osmotic pressure?
2VCIOMg S D (PSSLD CTETLIG WTg)?
4.  Define chemical equilibrium. Give an example.
Caudlé sBlancd cuaprwiml. T(HSSSSTL(H S(HS.
5. State the reduced phase rule.
GdnésIuL L Blavean 6l @M ayb.
6.  What is congruent melting point?
oGy wrdflurer 2 HE@WL Hlene eTeTLg) 6Tewme ?
7. Define Langmuir isotherm.

mbipw  Fobeuliu HlavewsCam(h euamyuim.

621



10.

11.

12.

State the BET isotherm.

BET suQautiu flevav&Car® @mUuamhs.
Define zero-order reaction.

el aufleng eflenaranil euanFwmidsHe] L.

Write any two difference between collision theory
and ARRT theory.

Curger CGamiumiyhed ARRT  Cerlumgma@n
Qe ude erhy Qe NSHUTFSMSUID 6T(LPFIS.
SECTION B — (5 X 5 = 25 marks)

Answer ALL the questions.

(a) Write short notes on ideal solutions.

peodlwue sy eraiug  uHd  QsmESS
T(PGIS.
Or

(b) Explain the free energy change of mixture
for an ideal solution.

@ HAnbs (Beoadlweay) sampsadler soaneluder
&g YHDE WLIHDESMS 6l6Ts@Hs.

(a) Briefly discuss about the reverse osmosis.
sodp  Faugphureudd  uddl  HHEHOTS
elleumdlEse] L.

Or

(b) Write note on elevation of boiling point.
Qardlblenauder o w Hlene Cubur@samer LHD

CgTE@58 T(HES.
2 621



13.

14.

15.

(a)

(b)

(a)

(b)

(a)

(b)

Explain the one component system of water
system.

fler  emwlied M Sewlienl LD
@@ o
ellemd: @s.

Or
Write note on congruent melting point of
FeCls3-H20 system.
FeCls-H20 simwluler @&5 2 h@h Leraflanw
updl GO eT(pEs.

Briefly explain the Frenchlich adsorption
isotherm.

SUfarledlE 2 Mgpased  FwCeuliugags LD
F(HEEHONG 6Nl6TEEHsS.

Or

Write short note on acid-base catalyst.
Sflob-&mbd  dlamarwysdlsaflear  Blaawsamer
updl AsrE581 TWSIS.

Write short note on polarimetry.
CurerfG@wlf upi AsrEsg er(pd el

Or
Explain the difference between collision
theory and ARRT theory.

Gorger Camiur@h wHpmbd ARRT Gsmlium®
@ wlerear Coumurhaamer el

3 621



16.

17.

18.

19.

20.

SECTION C — (3 x 10 = 30 marks)

Answer any THREE questions.
Explain the partially miscible liquids of phenol-
water system.
ugHwere] saoqubd B wHHL Gamd—-F enwlienL
umdl eleré@Hs.

Write note on Vant Hoff isochore.

aumarl  anmeoll oCsrCsmr  umdl  Csrgsg s
ollemd @ s.

Explain the simple eutectic system of Pb-Ag.
Pb-Ag Qe eraflu  eraflgmadr wlamu  ubm
cllerd @ s.

Write derive the equation of Langmuir adsorption
isotherm.

AT soCeuliLELGgIb Uiy  seu Flew
FLOGTLITLIq 6T APGLD S(ThHS.

Write the explain second order rate reaction.

@reanLreg euflens elldls ordl allewarsamer eileréd)
(PSS,

4 621



NOVEMBER/DECEMBER 2020

BSCH32/BSIC33/USCHR32/USIC33 —
WATER TREATMENT AND ANALYSIS

Time : Three hours Maximum : 75 marks
SECTION A — (10 x 2 = 20 marks)
Answer ALL questions.
1.  What are the sources of water?

BT BLO&E HenL_S@GLD YSTIBRISET WTeneu?

2. What do you mean by ozonisation of water?
Beoy  @CarCGamppd  GQewiged updl  BellT  ereven
2P BgleTemmi?

3. What are the advantages of ion exchange process

over Lime-Soda (L-S) process?

CamLm-geamenmdby  (pevperwl 6l weliuforhm
pevpulilen CLo6TEnLOSET WITeneu?

4. Write the structure of EDTA.
EDTA —ullerr janiolienLi eT(Lpsayid.

5. Define the term electrodialysis.
cuenywim : Wlererm MLy,

6. What is mean by plumbo solvency? How is it
prevented?

sTiLEG  SOrFd GraIHTED) GTEIT?  F  GTeUeImm)

sO&sLLGS DS ?
625



10.

11.

12.

Define pH.

pH cuenmuwimy.

List out the dissolved solids in water.

Bl sarpdHmegh 2 lysseiar  QUwigmenL
UL g WSl (H .

What do you know about radioactivity of water?
Bfler  sdflwsss seaeww  @Hsgs  BeliT  eremen
S| BGleTermmii?

Point out the various chemical substances present
in water affecting our health.

Bllgyet sappgieter, pog oL@ posSDEs Sw
ellanemailg @b CeudlCLmmL saners @GOG [HS.
SECTION B — (5 x 5 = 25 marks)
Answer ALL the questions.

(a) Define : “Hard water and soft water”.
Mention the units for hardness of water.

auegwm : “sgerbi woHmbd  Cwerefi”  Bifler
SR AGHAMOMW Tl LD S GSMETS
GINIGES
Or

(b) What are the characteristics of good water?
GRIT HETEH T 60T LIGHTLISET WiTene?

(a) How can you determine the hardness of
water by complexometric titration method?
Bller S aSSATEL®W  DADETEUTEHSSTLD
ummésed  (pedm  epeod  HellT  ereueummy
Blremrudl ismi?

Or

2 625



13.

14.

15.

(b)

(a)

(b)

(a)

(b)

(a)

(b)

How i1s hardwater softened by permuitit
method?
QumAlylgld (D PO SigerbT  ereleumm
Quetratyre LIHOLILIHEDE?
How is sea water converted into drinking
water?
S B eriimiend @l Brms wrHolinGEng?

Or
What is mean by scale and suldges in boiler
feed water? Mention its disadvantages.
Qardswasaiics  GCsm  wHmD  Cedldser
2_(IHeUTSH6 GTGITMTEL GTGITGOT? DAG6T
@pUThismens GOILLAHS.
How can you analyse acidity and alkalinity
present in water?
Biler  flwssamann  LHMID  STISSETENLOEWI
Bell eriimiend L@GluTlie] Qauig <dleumii?

Or
Give a brief account on sampling of water for
analysis.
feorls  wELumie OQeuwg Cgeeuwmer B
wrdlflgamer Caire) Qaliub elsd @Hss edlfeurs
(LS.
Describe the bacteriological examination of
water.
Bifled 2_erer LmGle Nwrgsemars LNCFTHSs0H LD
AT

Or
How can you measure the toxic chemicals in
water?
Ble  sorbgieter elays seen  GEmaRTL
CeudlLCummL_seaner Bell GTTBIMRIGITLD
SleThsMleumu?

3 625



16.

17.

18.

19.

20.

SECTION C — (3 X 10 = 30 marks)

Answer any THREE questions.

Discuss about purification of drinking water by
using different methods.
Gl4Bers gnlemwwurssls Lwearu (b LoCeum (PaDSET

ubl elleumd).

How hard water is softened by Lime-soda process
and Ion-exchange process?

CamLm—aeamentmidoL] (pem WwHmL  SweliufvrH
wen gpod  sgar BT emmend  GwereiyTs
wrHolLGSDng?

Describe the effluent treatment of water from
paper industry, petro chemical industry and
fertilizer industry.

s1dlgs Asmpherae, UL Crmbswlssan Qgrihamamea,
HMID 25§ Qgmhiharae sl BTl gnienLow mss@0n
pevpger LHM 6llens@s.

Explain about colour, turbidity, odour, taste,
temperature and electrical conductivity of potable
water.

Glgbiler  Hpb, soBHu S, LD, FMHE,
Qeutiublenw  wHMID WG SGID — Semepto LM
Nl EAGES

Explain about BOD and COD.
BOD wpmib COD upil ellersdl er(pgis.
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NOVEMBER/DECEMBER 2020

MEN31 — SHAKESPEARE STUDIES

Time : Three hours Maximum : 75 marks

1 (a)
(b)
2 (a)
(b)
3 (a)
(b)

SECTION A — (5 x 6 = 30 marks)

Answer ALL questions.

How does the festival of pomp and
entertainment in A Midsummer Night’s
Dream 1s explained?

Or
Narrate the role of Puck.

Explain the reason for Hamlet telling
Ophelia to go “to a nunnery”.

Or
Explain the historical background of Hamlet.

Why  does Hotspur called ‘manner
unbefitting royalty’? Explain it.

Or

Bring out the reasons of King Henry’s
disappointment with his son?

1188



(a) How does masculine order versus feminine
order exist in Antony and Cleopatra?

Or

(b) Explain the virtues of a republic versus
despotism in Antony and Cleopatra.

(a) Write a short note on Barthes ethical
perspective in Julius Caesar.

Or

(b) Briefly explain the Marxism views in Timon
of Athens.

SECTION B — (3 x 15 = 45 marks)

Answer any THREE questions.

Write an essay on the context analysis of the play
A Midsummer Night’s Dream.

Analyse in detail about the perceptive of mortality
and madness in the play Hamlet.

Explain in detail about King Henry’s

disappointment in his son and heir apparent
Prince Hall.

2 1188



10.

The play Antony and Cleopatra is based on the
concept of fate, inevitability, historical necessity.
Briefly explain it.

How does Oedipus complex is traced in Hamlet?
Justify.

3 1188



MEN32 — VICTORIAN LITERATURE

NOVEMBER/DECEMBER 2020

Time : Three hours Maximum : 75 marks

1 (a)
(b)
2 (a)
(b)
3 (a)
(b)

SECTION A — (5 x 6 = 30 marks)

Answer ALL questions.

How does Dover Beach express the theme of
isolation?

Or

Draw a note on the setting of My Last
Duchess.

What  are Carlyle’s comments on
Shakespeare’s laughter?

Or

How does Carlyle explain about the qualities
of poetry?

Write a note on the character of Jack
Worthing.

Or

Comment on the character of Algernon
Moncrieff.

1189



10.

(a)

(b)

(a)

(b)

Write a note on the depiction of childhood in
The Mill on the Floss.

Or

How does Fate overrules in the novel Tess of
the D’'urbervilles?

Write a short note on character of Tommy
Traddles.

Or

The role of Theodore in The Castle of
Ortanto.

SECTION B — (3 X 15 = 45 marks)

Answer any THREE questions.

Analyse the dramatic monologue in the poem
Tithonus.

Bring out Carlyle’s views on Dante.

The Importance of Being Earnest as a comedy of
Manners — Justify.

Trace out the autobiographical element in the
novel The Mill on the Floss.

Write an essay on the sufferings of children in
David Copperfield.

2 1189



MEN33 — CONTEMPORARY LITERARY

NOVEMBER/DECEMBER 2020

THEORY -1

Time : Three hours Maximum : 75 marks

1 (a)
(b)
2 (a)
(b)
3 (a)
(b)

SECTION A — (5 x 6 = 30 marks)

Answer ALL questions.

State the view of literature according to
Sidney.

Or
Define Semiotics.

Interpret stylistics with suitable examples.

Or

Examine the view of Narratology according
to Claude Strauss.

Determine Derrida’s contribution to
‘Deconstruction’.

Or

Evaluate Post — structuralism — life on
‘decentred plant’.
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10.

(a) Analyse ‘Paraprascis’ and ‘Displacement’.
Or

(b) Enumerate the contribution of Freud
towards Psychoanalytic criticism.

(a) Examine in detail the characteristics of
‘Gynocriticism.

Or

(b) Describe Feminism with suitable examples.

SECTION B — (3 x 15 = 45 marks)

Answer any THREE questions.

Critique on the various concepts related to critical
theory.

Evaluate the various objectives of Stylistics.

Critically analyse deconstruction and post —
structuralism.

Discuss in detail ‘Oedipus complex’, and the
significance of the concept.

Discuss Elaine Showalter’s contribution to the
growth of feminism in detail.

2 1190



NOVEMBER/DECEMBER 2020

BCM22/BAFA13B/BSCP36/UAFA13A —
ELEMENTS OF INSURANCE

Time : Three hours Maximum : 75 marks

SECTION A — (10 x 2 = 20 marks)

Answer ALL questions.

1. Define Insurance.
TS0 — cuenyuwmy.

2. Write any two characteristics of Insurance
contract.

SIS () euubssdear gCsaib Qe Serensamar
8%7.@]83.
3. Write any two objectives of life insurance.
et ST g 6t CHT&smigeT FGCsend @ reant( $(Hs.
4, What is the meaning of Group insurance scheme?
G STUISL(H S L LD eTanmTed 6Temme?
5. Define Marine insurance.

sLevamt sTISH — euanywim).

1272




10.

11.

Give the meaning of freight insurance.
F16@ sLLawt STUSH erarLiger CLimmer wing?

Mention any two contents of marine insurance
policy.

LU sTUSLHE Cararensuler o L gnmser @) reut(h
NS
What is the meaning of partial loss?
UGS @LLIL| eTemmTed GTEmeT?
Define Fire insurance.
E&aTULS(H euenwan.
What is specific policy?
@GOG L Sl LD eremmmed eTewmen?
SECTION B — (5 x 5 = 25 marks)

Answer ALL questions.

(a) Explain the general principles of insurance.

ST g6 Qungs Camlumbhaemer cllaréEs.

Or

(b) Explain the merits of insurance to the
business.

ET W) wumurrsHne HenL_&@Lb
BTG LOEHEN G 611161185 (5.

2 1272



12.

13.

14.

(a)

(b)

(a)

(b)

(a)

(b)

What are the advantages of life assurance?
DpULET ST 1q 6T BETENLOEET WITg)?
Or

Explain the schemes of renewal of lapsed
policies.

sremellSwimen uimedl&lseaner LgIL9& @10
SILL_misener 6llaTsEs.
What are the characteristics of marine
insurance contract? Explain.
sl &rm sTuSl(  eUubssHer L6
wreneu? edleurl.

Or

What are the classification of marine
insurance?

LS ST Iq 6T UEDSSHET WITG)?
What are the marine perils? Explain any
five.
SLed &M ouTuBsdT  wremel?  gGsebd
B g laTEGs.

Or

Explain the different types of non-
proportional re-insurance.

Adgrsgry wOML woH ST g LOCeumy
QUGS T 6l 6T (GH3.
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15.

16.

17.

18.

19.

20.

(a) Explain the causes of fire.
&G SMTETBISM T GN6Té 5.

Or

(b) What is the subject matter of fire insurance?
Give any five example for insurable property.
& smulilge sEUCUTMHET 6repTedd  erevren?
gCaenid ;b EINIR I Qerggssamer
T(HSSISTL(h S(HS.
SECTION C — (3 x 10 = 30 marks)

Answer any THREE questions.

Explain the types of insurance.

ST g 6T U ESEET 6l 6aTd &

Explain the various kinds of life policies.

<puer smiuSL(H Cararansuler LoCan eumssmar
cMlemd: @s.

Discuss the procedure for taking out a marine
policy.

SLQOFTIT SIS () Lmedl&) rHULSHSTET
audlpenmaaner efleums).

Explain the important clauses of a marine policy.
sLearm sTUSCH urelflufer L o4f gmmsenar
cMlemd@s.

Discuss the rights of the insurer under a fire
policy.

Saemiuilige  stull  Sefuueflar o fMenwsamer

aAleu.

4 1272



NOVEMBER/DECEMBER 2020

— BUSINESS LAW

BCM32/BCP32/BFA22/UCM32/UFA22/UCP32

Time : Three hours

SECTION A — (10 x 2 = 20 marks)

Answer ALL questions.

What is offer?

(PENEITE| GTEITMTGD GTEIEIT ?

Define Quasi contract.

eUubs CuUTee] euanFuwim.

What is nominal damages?
Quuwigerajer @WLUISH 6remmTed 6Tere ?
Define Breach of contract.

liLbs Bmed cuenyuim.

Define Indemnity.

FL(hmid euenrwim.

What are the rights of indemnities?

rlndwefliiveufler o Mepwser wraneu ?

Maximum : 75 marks
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10.

11.

12.

Give two rules for agency.

wpaawuller @ lflsmens &ms.

Who is an agent?

(PS&6U  eTerliel  wm ?

Define the term bill of exchange.

wrHNEFEH ererm Camaallen QOESMID &(Hs.

What is meant by symbolic delivery?

EI&E DAMLITETIONG GULDMEI (S GTGITMTE) GTEITE ?

(a)

(b)

(a)

SECTION B — (5 x 5 = 25 marks)
Answer ALL questions.

What is an illegal agreement? What are the
effects of illegality?

L preormer 2 Lerm(h  GTeTMMe)  GTemeor ?
FLLsSDE ypburer CQFwuesstear elenere|ser
wmeneu ?

Or

What are the essentials of wagering
agreements?

Ueerl o Learliqdansuler isHwumeudu gnmiger
wnened ?

Explain the discharge of contract.
eUubBS B eearuamg afleul.
Or

2 1274



13.

14.

15.

(b)

(a)

(b)

(a)

(b)

(a)

(b)

What are the instances of quasi-contract?
eUubs Guraeier T(HS5SISSTL(HSSET WTamel ?

Differences  between  indemnity and
guarantee.

rlOndsEn 2 sdrurssdnEnd @ Guw
2 emer Geumiuim(HEHener gam).

Or
Explain the liabilities of a surety.
e Wenamrwimerflenr QUTMILILGSmer allems @s.
What are the requisites of valid ratification
of an agent?
WPsUMmEGeTeT @@  OegE  pearGearhiGer
W&EWS Caameuser wrene. ?

Or
State the liabilities of an agent.
e paaufler QUIMILLSMETES dnms.
Distinguish between contract of sale and
agreement to sell.
buemer  @uubsd  WwWOHML  SHUsSHSTET
o Lerur(h Ceumiihsss.

Or
Discuss the features of contract of sale.

N Huenest RUILIHSS S 6m SpLidweysemer
elleurdl.

3 1274



16.

17.

18.

19.

20.

SECTION C — (3 x 10 = 30 marks)

Answer any THREE questions.
Define consideration. What are the rules
regarding consideration?
DO Q&SI  HMHs. oL  Ggm Lmer
cNldlger erenlererer ?
Discuss the remedies for breach of contract.

euiLbs Bnsaissrear § ajsmer alleurdlss.

Explain the duties and rights of Bailor.

el Uueflar  sLawbsmerwd, 2 famwgameryd

eSleul.

How an agency is terminated? Explain.

s ereueigd (pigelt Cunpdlpg ? afleur.

What are the stages in the performance of a
contract of sale of goods by a seller?

@M edpuemenwurer , e Cummener  allHUmeT
Qeeugnarer  eUubs  CFwddnaiear  Hlavsar
wrened ?
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NOVEMBER/DECEMBER 2020

AND PRACTICES

BCM33/BCP33 — BANKING THEORY LAW

Time : Three hours

SECTION A — (10 x 2 = 20 marks)

Answer ALL questions.

Define the term of Banking.
QUBIE — U TeNlVEHETLD H(ThHs.

What is ‘Lender of Last Resort’?
‘Qnd sLen FGeui eTemrmT6y eTeoTen?

What is PIN?
PIN eresrmmed eresres?

What is a Credit Card?

HL6T SN GTEITDTE) GTETEH ?

What is pay-in-slip?
QeSS FEL_(H GTETDTED GTEN6n?

-~

What is the purpose of KYC norms
KYC a9dlpanpsafien Crrasid eremen?

Define the term ‘Cheque’.
s1Camane eranm ClFTEOENQ eUENTIIM).

Maximum : 75 marks
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10.

11.

12.

What is a garnishee order?
ST 6S T TGN TED 6TEmEs?

What are the “T'erm loans”?
“&MTe) HLWSHET GTGTDITE) GTEIE?

What is “collateral security”?
“Clenamr FFL_(HmIH” eTeTmmed GTetren?

(a)

(b)

(a)

(b)

SECTION B — (5 X 5 = 25 marks)

Answer ALL questions.

How does the RBI act as banker to
government?

Memey  eumidl  orFmRssSHnE eumSwreryms
ereueumm Geweou(HSHma?

Or
Bring out the origin of banking in India.
@nbHurelley curidluller Carhmsens GlETenTis.
How does EFT system differ from traditional
system of payment?
umpouflu Qegsgige wperpulledmbg EFT
wpanp ereuaumm Coumu &g ?

Or

What 1s a debit — card? What are its
features?

UDM L6 GTETDTE) CTEIENT? AFHENT | DFBIGET

wmreneu?

2 1275



13.

14.

15.

(a)

(b)

(a)

(b)

(a)

(b)

Describe the importance of CRM in banks.
cumidlsafled CRM-éin WEHwsgleusms
aleuMEsali.

Or

What are the features of Banking
Ombudsman scheme?

aumdl el evGwer S sl  bDFmISGET
wmreneu?

What are the various types of crossing the
cheques?

LGeuy cuamswiner sTCFTme SFEOSET WTameu?
Or
Explain the duties of paying banker.
uend  Ceeuggid  eumdlwumearilen  sLenEHemer
NleTsEs.
Explain the different securities that are
accepted by a banker while lending to
customers.
QUG HEN&ILITETITS (@hE SL_6T eULpMBIGLD CUIME) 6p(m
cumiFlwmergmed gomis GameareriL(Bin GeusuCaum)
() <y euanThiser LHl allemd@s.
Or
State the points to be considered while
advancing loans against jewellery.
Bens sl cUPEIGDLCEUTE smSSHlad Camerer
CouemTiq L D DFBIGMNS o).
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16.

17.

18.

19.

20.

SECTION C — (3 x 10 = 30 marks)

Answer any THREE questions.

Discuss the various functions of Reserve Bank of
India.

flarey  eumdlufenr  LOCeaumy — uaflsmer b
elleurdlésa]ib.

Bring out the benefits of e-banking.
Werenam cumidludwadler peentoseaner Gleuefl&E6lgmanTTs.

Enumerate the different types of accounts opened
in a commercial bank.

auentls amSuled geussliumbn uoGoum eImwITem
SETEHGSETL! LIHM Fom)s.

Explain the duties of collecting banker.
QU@ cumIGlLITeTTle SLenLogeaer aNlemd:@s.

Discuss the various principles of bank lending.
eumISl HL6T UPEIGeUFSDETET LICaum CETeaTanssamaTL
Ll efleundléseyLb.
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NOVEMBER/DECEMBER 2020

BCM34/BACP13B — BUSINESS
STATISTICS -1

Time : Three hours Maximum : 75 marks

SECTION A — (10 x 2 = 20 marks)

Answer ALL questions.

1. Is statistics a science or Art? Comment.
yerafludlwed e iPlafer ojeg smewT? sHSg
FoL1)5.

2. State any four disadvantages of statistics.
Yerafluduieden Brem@, @emum(h&enarT samis.

3. Calculate the mean from the following data:

RollNo.: 1 2 3 4 5 6 7 8 9 10
Marks: 80 100 110 156 116 120 146 70 86 96

ECGp  Qarpssuul_(erer  eleugmigaiies  @)(HHE
grmefeni &earéd (hs.

eyer@r: 1 2 3 4 5 6 7 8 9 10
wHiQuarser: 80 100 110 156 116 120 146 70 86 96
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If the mode and the mean of a moderately
asymmetrical series are 16 and 15.6 respectively.
What would be its most probable median?

gw&gypw Casrifer pa@h wHmb syred WpapGu 16
LHMILD 15.6. @sear sflums ediumiss galgwl
@enL_flene eremmen?

What are the relative measures of variations?
UL (B Sjemeneu MmLTHISET WTeneu?

Find the range of weight of 10 students from the
following:

41 11 14 65 73 64 53 35 71 55

&Gy Gar@ssiu’(erer 10 wraveuiseflen eigs
CTEOL_GD I HITEO0TS.

41 11 14 65 73 64 53 35 71 55

What is the measures of the following moments :
(a) Third moment is called

(b) Fourth moment is called

Epssar_aupdlen  allewds GCLmsHdler erei(hsar
GT60TE0T?

(=1) eperprd alewssl CUmSES Cgrens eremLg

(=) premsmd elessl CQUmEGS CFTas eremLg)
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10.

11.

Write short note on skewness.

gw&synmeney LHM GOILIL cuenrs.

What are the types of control chart?

sL_HUur’ (b euerruLhisafler euenSEET Wraned?

What is statistical quality control?

Heretludlwed ré L HLILT{H eTTmTE cTeme?
SECTION B — (5 x 5 = 25 marks)

Answer ALL questions.

(a) Discuss the various methods of collection of
primary data.
o  eleurmisener  CrafsEh LG
panmaaner afleur.

Or

(b) Convert the following distribution into more
than cumulative frequency and less than
cumulative frequency and draw Ogive curve.

Weekly wages : 0-20 20-40 40-60 60-80 80-100

No. of workers : 41 51 64 38 7
Epsseam ufliramasamer Coalar wHmid Sler
GUGTIT 160600l 6L GBS rH QPENGEGL
CUGHETEUEN &6 GUEH TS .

aumpmhdlrs sed © 0-20  20-40 40-60 60-80 80-100

Goueneowim_serfler

cTemTentlSeng 41 51 64 38 7
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12. (a) Calculate the average marks of the students
from the following data :
Marks : Below 10 Below 20 Below 30 Below 40
No of students : 15 35 60 84
Marks : Below 50 Below 60 Below 70 Below 80
No of students : 96 127 198 250
&Gy Qasr@ssiulL  eleurmsaie  @Qmbs
wreweurgafler rmafl wiCLamTanamT semrés (Hs.
QUG : 10 6@ 81p 20 @ 81D 30 @ S1p 40 5@ S1p
LD TOT 6L &6 6T 6T6H0T6mf | Senas 15 35 60 84
Qg : 50 &5 &1 60 @ &1 70 6 &1 80 b &1p

rawreuisafler eranrani&amns 96 127 198 250

Or

(b) The following table gives you the distribution
of marks secured by some students in an

examination.
Marks : 0-20 21-30 31-40 41-50
No of students : 42 38 120 84
Marks : 51-60 61-70 71-80
No of students : 48 36 31

Find median marks.
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13.

oo wremeuiger GCamelled Gubm wHICLTSE e

uliquid ECp Qarhssliul(Hererg).

LHIGLGTSET 0-20 21-30 31-40 41-50
wrereusefen eramanilsma © 42 38 120 84
AUIGLIG ST : 51-60 61-70 71-80
wrereuiseflen eremenilGams : 48 36 31

GenLblenay GG LIGHT STams.
(a) From the following table, find out first
quartile, third quartile and first decile.
Size of item : 0-10 10-20 20-30 30-40

f: 2 18 30 45
Size of item : 40-50 50-60 60-70 70-80
f: 35 20 6 3

Epsaemr_ 2L auenanruilel(mbg PSD
STOLDTEILD, (PEIDTLD STELOTETD MWD (PGS
LS GTLOTEILD &TevTs.

<ere] - 0-10  10-20 20-30 30-40

f: 2 18 30 45

<ere] 1 40-50 50-60 60-70 70-80

f: 35 20 6 3

Or
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(b)  Calculate inter quartile range from the data
given below :

Class : 0-10 10-20 20-30 30-40 40-50
Frequency : 4 15 28 16 7

&Gy Qasr@ssiul L eleurmseid  Qmbs
QeLsrewrar eiFms Hasd (Hs.
\Giflay : 0-10 10-20 20-30 30-40 40-50
16U e : 4 15 28 16 7
14. (a) Given Q1 = 18; Q3 = 25; Mode = 21 and
Mean = 18
Find the coefficient of skewness.
Qar@ssiulLg Qi = 18; Qs = 25; wps® = 21
O Fyrad = 18
CamL & C&(panel SremTs.
Or
(b) Differentiate skewness and kurtosis.
CamLb mmib gLl ere] — Coumu(hH55)s.
15. (a) Explain the procedures for the operation of
quality control programme.
ST&S_(HLum(h SL_g e Qeweoum’_(5)
BEDL_(LPEDNEHENET 6161TE (5.

Or
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16.

17.

(b) A daily sample of 30 items was taken over a
period of 14 days in order to establish
control limits. If 21 defectives were found,
what should be the upper and lower control
limit of the proportion of defectives?

sUuurl(® eamrow ghu®ss, Searupd 30
wrdlflger 14  ea@HssiulLg. GampuThser
o aremeneuger 21 erenr  HawT(HLNig S LT
@@pur@hsear  oddsrsgry Guoed wHmD  Sp
SLHUUTL(H UenTWenFEHET WTeHeu ?

SECTION C — (3 x 10 = 30 marks)
Answer any THREE questions.

Explain various characteristics of statistics.
yerefluflwelen LisvGeum @) wedL|Eener 6l 6md:@s.

Calculate mean and median of the following data:
Profits per shop (Rs. In lakhs):  0-10 10-20 20-30

No. of shops : 12 18 27
Profits per shop (Rs. In lakhs) : 30-40 40-50 50-60
No. of shops : 20 17 6

Epsaam_ eleurmseids @mbg gl (HFgrrafl wHmLD
@anL_blene &ratms.
& seLwlar @erub (o5 wlssded) :  0-10  10-20 20-30

FEML_&6M 6 GTarTant Hens | 12 18 27
@@ semLuller @erub (of. ol gsda) :  30-40 40-50 50-60
FML_E6T 6 GTERTET Hens | 20 17 6
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18. Goal scored by two team A and B in a football
season were as follows :

Number of goals No. of matches No of matches team B

scored in match team A
0 27 17
1 9 9
2 8 6
3 5 5
4 4 3

By calculating the coefficient of variation in each
case, find which team may be considered more
consistent.

@y ewtlser = HMID <, SroUBST L CFTLifle
Qupp yerefser ECp QamhHissiiLi(Hererer.

Cumiguied Qubhm
yereflsafier Cumig ger Cumiq seir
cranTanilEend cramanflEans el & cramanilEans ienfl <,
0 27 17
1 9 9
2 8 6
3 5 5
4 4 3

galbearamdd@nd  wMMUTLHE Caweael  SHamsdlL
SIFE epOTE  oThE el Wsea|b Hlamgeraeai
UTUBSS cTeTLIenS SenT(hLlg..
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19.

From the marks secured by 100 students in
section A and 100 students in section B of a class,

the following measures are obtained.
Section A X =55 and S.D =15.4
Section B X =53 and S.D = 15.4
Section A mode = 58.72

Section B mode = 48.83

Determine which distribution mark is more

skewed.

9fley <= efler 100 wremreurs@End Gfley < er 100
remreUrg@Eh Glumm waitluearsefler gt uded

EpsaL Sjarei(Hser QUL L g).

M6y < gpmafl 55 wHmD S L elessd 15.4
9fey <, gyrafl 53 wHmib S L alessbd 15.4
Gfle) <= et p&®H 58.72

Gfley <, e (s () 48.83

THS L&l rerssen & 16l Liewor VAL AT 2

FEDDHOSTGLD eremigy Srioreid@ib.
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20.

A drilling machine bores holes with a mean
diameter of 0.523 cm. And a standard deviation of
0.0032 cm. Calculate the 2-sigma and 3 —sigma
upper and lower control limits for mean of samples
4, and prepare a control chart.

savemuil (o  Quipdlrsdler geury gianeruller Fyme
L sjarey 0.523 Qg.18 wpmibd S ellewdsnd 0.0032
Qe.5. 2-sigma wHmd 3-sigma Gdwl L wHmb
Epwl L sluurl@® syrefl wrdfl 4-&@ SeTanol
sauraSIL(H SL(HLLTL(hH eUenFLIL LD eUmTs.
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NOVEMBER/DECEMBER 2020

BCM51/BCP51/BFA51/UCM51/UCP51/UFA51
— COST ACCOUNTING -1

Time : Three hours Maximum : 75 marks
SECTION A — (10 x 2 = 20 marks)

Answer ALL questions.
1. What is cost accounting?
L5566 S@TES I GTETDTED 6TETE0?
2. Define cost unit.
DL_&G |6, eUMTIIM).
3. What do you mean by inventory control?
F7&E UL s HUUT®H eremige Ol LImeT cremen?
4, What is scrap?
SPILIL| GTETMTEL GTeDTen?
5. State the meaning of EOQ.
EOQ ereruigen Quimmer gamis.
6. What is ABC analysis?
ABC u@Liumiey eremmmed 6reimes?
7. What is meant by idle time?
eewrmenr GBI GTemMmITed Grebnes?
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10.

11.

12.

Define Gantt task bonus scheme.

Gantt task Cumemev Sl L Seng cuenywimi.

Define overhead.

CuplFweameu cuenrwimy.

State the meaning of variable overheads.
rmUGHLL Con6lEaeyseT erarLigem ol LImmeT g.mis.

SECTION B — (5 X 5 = 25 marks)

Answer ALL questions.

(a) Explain the scope of cost accounting.

SILSFHeNened 6T H W60l 6ot eTevan e U en e
F(HEHOTE 66T EHs.
Or

(b) What are the advantages of cost sheet?

SIL&&H6M M0 D SeEHUIGIT BETENLOGET LITEn6 ?

(a) Annual demand 2000 bags
Order cost per order Rs.1,200
Annual carrying cost per bag Rs.480
Compute EOQ from the above data.
< et Coanal = 2000 enLiger
QR 2 @manuilen 9L&GaF HFwey = p.1200

Q@M dUESG gHUGHL War(h Fomamsstawe =
e5.480

Cop@diblL  sseudsmer @meusg Slesar
S meant QETeTIpSHed eTellenens sanrddl (hs.

Or
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13.

14.

(b)

(a)

(b)

(a)

(b)

Distinguish between bin card and store
ledge.

#16@ el wlemar  gr5@  GCuGTigedmHa
CaumuBhssi5.

A worker is paid 25 paise per hour for
completing a work within 8 hours. If he
completes the same within 6 hours, calculate
wages under Halsey plan and the rate of
premium 1is 50%. Ascertain the effective
hourly rate of earning by the worker.
@@ Coumaenw 8 wanfl Crrsdla wpiyszsmad 0.25
L& Fnedl arhissliLbhdlemmgl. em GCouemaani
6  wefl  Cprgdle  pussTd  l@ES
Sl sssniqg saddlenw anme)Gs Liemmem  eLpeoLd
sesSlLa|b i sardlwid 50%.

Or
Write short notes on “Time booking” and
“Job card”.
Cryb udle] womb Coueme e Hm Gl
UGS

Explain the term under absorption. State
any four causes.

Cn@gwe| WL L erermmed erean? erCHenid Hres,
STTETHRIGET GO (HS.

Or
What do you meant by overheads? How is it
classified?
ConOFesET CTETMTED CTETET? N6 GTEUE M)
auasLILHSSUIL(HSlemmen?
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15.

(a)

(b)

What is machine hour rate? State its merits
and demerits.

TBST eanfl aNEHLD GTRTMTE ETETET? FE HeTenLD
Eenioganer 6llamd @,
Or

Calculate machine hour rate to cover the
overhead expenses indicated below:

(1) Electric power  — 75 paise per hour
(1) Steam — 10 paise per hour
(i11)) Water — 2 paise per hour

(iv) Repairs —Rs. 530 per year
(v) Rent — Rs. 270 per year
(vi) Running hours - 2000 hours per year

Original cost of the machine is Rs. 12,500

Depreciation rate is 7.5% per year.

©  Dersss) — wafllEE 75 sras6r
(i) Bymed — wenflé@ 10 sraser
(i) B — eflé@ 2 srasdr
(Av) uwpgumiliy — ¢5.530 auBLSH DG
V) oL —em. 270 auHLSH DG
(v) el Corb — 2000 wenfl Cryb
UBLEEDG

Quipdlrsdler oigd smens m.12,500
Cawinmeand alldlsbd 7.5% e euhLSS DG
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SECTION C — (3 x 10 = 30 marks)

Answer any THREE questions.

Explain the different between cost accounting and
financial accounting.

HlS Flenes SeTdE L HELD, ©IL_&seNenen
saT&EE W@ LD 2 drer CoumLimhisamer allers@s.

Prepare stores ledger entries by using LIFO
method of pricing issues method.

April Rs.
1 Bal. in hand 300 units 600
2 Purchased 200 units 440
4 TIssued 150 units —
6 Purchased 200 units 460
11 Issued 150 units -
19 Issued 200 units -
22 Purchased 200 units 480
27 Issued 250 units -
@nHuler cupsgl Psedled HHG0 panmepwid G TaT(h
uarrsl CuCr® swr Ceiuiea|b.
L6y orm.
1 s15@ ewslmiy 300 swgsar 600
2 Gamarpsd 200 So@sar 440
4 Qarhssg 150 sw@ser -
6 Qsmearpsd 200 Se@sar 460
11 Qasr®ssg 150 sie@sdr -
5 1281



18.

19 Qsr@ssg 200 siw@ser —
22 Qararapsd 200 e @sdr 480
27 Qararpgd 250 e @sdr —

From the following data, calculate the labour
turnover rate by applying.

(a) separation method

(b) replacement method and

(¢) flux method.

No.of workers at the beginning of the month =900
No.of workers at the end of the month =1100
during the month 10 workers left, 40 workers were
discharged and 150 workers were recruited. If the
25 workers are recruited in the vacancies of those
leaving, while the rest were engaged for an
expansion scheme.

Gereumpd  efeugmsenars — Qamear(h — Spsseim
panaaied 2 apliL) rHm cissdamand sarsd (Hs.
(=1) saliu@ssd peop

() Ly 2ALTEE0 pap LHHID

(@) oolargen (penm

rgg QS _GssHler Liewtwmarisaten eramentsans = 900
wrg @mniFuier vemtlwmerisailen erawrentisans = 1100
BLUL wrssdled 10 uenflumeriger GeueflCument 40
uenflwmreriser  HlpLid Si@ItulLL L. 150
L1600 Wi TG T8 6T Csitay Qewwiul e,
QeuafiGuwealrser QL &HDE 25 Cueny Csrey
Qagre, @srl uamflwreriser ellfleursss S L sn@E
LweTU(hSSLILI(HEUTTSET.
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19.

20.

A worker takes 80 hours to do a job for which the
time allowed is 100 hours. His daily rate is Rs.2,50
per hour. Calculate the earnings of worker under
the following methods of payment of wages.
(a) Time rate
(b) Piece rate
(c) Halsey plan and
(d) Rowan plan.
Gprb eigb, Ceiewae eigd, apmdGs b whmyb
Crmeuer L epeold Faelleaniis SaumadlLeLb.
e Ceuamewmrer 80 wenfl Crrsser em Coumeaanwid
Qg pusSleammrT. @ Car@&ssiul L Cryb 100
wenflser Hadamelwns e weall Crrider gmead aisb
¢r5.2.50.
A company has three production departments and
two service departments. The following details are
submitted.

Particulars Production Dept. Service Dept

A B C X Y
Primary overhead 15,620 25,086 9,094 8,000 5,200

The expenses of the service department X and Y
are to be allocated as follows :

Particulars A B C X Y
Dept. X 30% 40% 20% - 10%
Dep. Y 10% 20% 50% 20% —

7 1281



Estimated  working hours of production
department are as follows :

Department A —1000 hours
Department B —2500 hours
Department C —1400 hours

Calculate overhead rate per hour under repeated
distribution method.

em Csmipsrane A, B, C eem epearm o husd
slaopaEpd X, Y erarm Gseaneus SIanma@hd o 6Tere.
Gemeu(md efleurmiser sMAGESILIL (HETeTg).
efleunid 2 HuSH FlewnEer Caaneudgiennaer
A B C X Y
e Asoajser 15,620 25,086 9,094 8,000 5,200

Caameus  giewpsafler  CopLlgoeser  GemealHomm
GfsgefssiLBEHng!.

elleurid A B C X Y

gloop X dewayser 30% 40% 20% -  10%
gleop Y GQseweyser 10% 20% 50% 20%  —

Camymwwner 2 pusdlssmar Ceuena CHImIGET Fienm
eumilwines ELPSERTL_Lilg 2 _6Terg).

glenm A —1000 wewflser
gienm B —2500 wenflger
gieop C —1400 wewflser

A, B wvppid C—lenr Qwrgg GuonEswe|sdr arrHib
u&lrhgetlL] pepmulled sevr_ls.
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NOVEMBER/DECEMBER 2020

BCM52/BECP55B/BFA52/UCM52/UFA52/
UECP63C — PRACTICAL AUDITING

Time : Three hours Maximum : 75 marks

SECTION A — (10 x 2 = 20 marks)

Answer ALL questions.
What is a statutory audit?
FLL(PEnD SETSMNE GTETMTE) GTEIEN?
Write a note on social audit.
Feps santlsans LD Ao @Dy SHs.
What is an audit note book?
SaflEms LSSHD GTETDITE) 6T6ITEN?
Define internal control.
9188 SL_(HLULTH Q&S &(HsS.
Define vouching.
<5Mr§ S0 sanflEans euanrwim.

Name the various ledgers that come under the
secreting of the auditor.

sanflsanswreriler  <plieyds@ o lullL  udGeaum

CuCrhaemer @GOILILA®.
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10.

11.

12.

How will you verify the fictitious assets?

SHUMETE CFTE8IEHEET 6TeUeUMM) FiflLIMTLILITII?

Mention the classification of assets.

Qersgisaatan euanssaer Csell.

Who can fix the remuneration of first auditor?
s safldamawrarfler saflugdaer Sroreflig
WIm?
State a few names of documents that an auditor
studies before commencing audit.
sanflgens QFTLBIGD (e FSESMESWTETT  LITTES
CouamTiq ULl <461 GRTEISENET S

SECTION B — (5 x 5 = 25 marks)

Answer ALL questions.

(a) Explain the scope of auditing.

seawtlsanaudledlen crabenaenit eleur.

Or

(b) What are the features of marketing audit?

FHens FewtlSemnsullIeN6r < DSFBIGET 6T6mET?
(a) What are the objectives of audit programme?

santlsans Hlradle Crrésb ereme?

Or

2 1282



13.

14.

15.

(b)

(a)

(b)

(a)

(b)

(a)

(b)

Explain the objectives of internal audit.

<915 sanflsaauiien Crrésanigamear efleur.

What are the importance of vouching?

<517 EL(H ganfldamauien WeHwdgieuld creme?
Or

How would you vouch a sales book?

efpueer eFlenl eTeueumm <ASTIEL(H SenllEams
Qaieumi?

Discuss the objectives of verification.
sflumiggedlen Crrssnigmer allours).
Or

As an auditor of a company, how would you
verify propared dividend?

(1 Blmicuenr sanflEenawireryms
@@@mrrleé]u_luul'_l_ UBISTETLSMS  6TeUeUTm)
FRlumrlum.

Write the duties of a company auditor.
Biming Sewtlsangwmearilen HL_eplosHemnerT 6T(LPGIs.
Or
What are statutory liabilities and explain it.
mm safldamswurerier sl Lpan CummiliL|ger

CTGTDITEL GTETET? DB adlauil.
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16.

17.

18.

19.

20.

SECTION C — (3 x 10 = 30 marks)

Answer any THREE questions.

Explain the objectives of audit.

sanflsanaullen GHsCamearaamer alleurl.

Discuss the contents of audit note book.

sanflEans Lssa556m s5gIHsme adloums).

Explain the points to be considered while vouching
credit purchases.

sLan Camarpsame sanflsans g Cumg seuealss
Ceuamrig Weneusener allems @s.

Discuss the steps to be taken for verification and
valuation of investments.

sl sflumms@n Curgib, wHOIGHD, Curgb
eT(h&5 Ceuanriquwl LilgHlanevganer afleums).

What are the rights of auditor?

sanflEenawimerien o MenLo&eT eTeen?
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NOVEMBER/DECEMBER 2020

BCM54 — INCOME TAX LAW AND
PRACTICE I

Time : Three hours Maximum : 75 marks

SECTION A — (10 x 2 = 20 marks)

Answer ALL questions.

Who is liable to pay Income Tax?

wr euflL@urmndmnE o erermeur?

What do you mean by Diversion of Income?

QU(BLOTETSMS SHleng Sl(HLILISE GTETMTE cTerme?

Mention any two exempted allowances.

gCoaid  @ranr(h euflelws@gl CQubm  Ligsmers
GINRICES

Mr.X, resides in Chennai, gets Rs.3,00,000 p.a as
basic salary, D.A forming part of salary for service
benefits Rs.40,000 and 2% commission on turnover
achieved by him. (Turnover achieved by him
during the relevant period is Rs.3,00,000). He
receives Rs.60,000 as H.R.A. though he pays a
rent of Rs.80,000 p.a. Determine the Taxable HRA
from the above case.
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Qoamenauiled eufls@n Sm. X erareum yaTHEE
5.3,00,000 =iqlinenL & FbueToTse|D, Gsameull
vwensGerm(®  GamLiyemLw (s SsellanaiiLilg
5.40,000 wpmibd elpuemarder g 2% sdleyb
Qumdlprr. (AsrLiyeLw  yeriged e GFlg
puener  ¢5.3,00,000)  sjeur  @5.60,000 &I
aurLensll  Uigwrst  CumdpmT. parmed DU
Qeqdgid aumLand garhs@ 5.80,000 . GuwGe
Qar@R&sLiILL (HeTer S&eUSET GTLILg aurfl
AHLAD@L L L I (H euTLang Uiy Sanrés(hs.
Define the term “Standard Rent".

HlEn QO UITET GUITL_6ng GUEN FUIMm).

Find out the gross annual value from the following

Particulars Rs.
Municipal Valuation 1,80,000
Fair rent 1,90,000
Standard Rent NA
Actual Rent 1,40,000
Let out period 8 months

Self-occupied period 4 months
EpsaeupalpBg  Cwrss @  wdlilemeans
SeT(HL9iq H&H6LD.

eupmIGET 1.
BEITLS LI 1,80,000
wrdfl eS( eurLens 1,90,000
Bleneowimen cum_ens NA
o _GTENLOWITEN QUL D& 1,40,000
QUTL @& &Mevld 8 months
Qerig 2 LCWTsSHDHE LweTBSH W STed 4 months
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Define the term business

Qzmlé euenruim.

From the following information, compute the
amount of depreciation allowable for the

AY 2019-20.
Particulars Rs.
WDV on furniture 1-4-18 1,10,000
Furniture purchased on 10t June 2018 15,000
Furniture purchased on 18t January 2019 20,000
Part of furniture sold in February 2019 3,000

Rate of Depreciation 10%

&G Qarpssiiul_(Herer gseudseiadmbgs 2019-20
DaTen  A@IDSHESSHmIgL  Colbrears Cgreansamuis

Sen(H 14919 &6 D.
clupBIgeT em.

1-4-18 yenm Siempaveian @ennBbg clae
@l iy 1,10,000
sgoer 10, 2018 yaim oienmaaven Qamerpsed
Qewigg 15,000
sareul 18, 2019 wenmy sienmaawer Qameipsed
Qewisg 20,000
Qireufl 2019 e LGS @ps6T aAHog 3,000

Gawiomer efdlgn 10%
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10.

11.

12.

State any two objectives of conducting income tax
survey.

aumomen euflECamsanen GomGlamareugen CrrEsmiseT

@rewrigemand @GOG HS.

Write short note on CBDT.
CBDT upn Sl @i euenys.

SECTION B — (5 x 5 = 25 marks)

Answer ALL questions.

(a) Explain any five Canons of Taxation.
auflafgllien Qaretenssaiies Coanid mbdlenen
AT

Or

(b) How would you determine the residential
status of an Individual?
sl pLUBEET Glq W flenind Semenoenil eTeleumm)
Ser(hLlig Limi?

(a) Compute taxable part of annual salary from
information given below:

Particulars Rs.

Net Salary received 72,000

Income tax deducted at source 4,000

Professional tax deducted at source 1,200

Group insurance: Premium deducted by the employer 1,200

Rent of house deducted out of salary 3,600

LIC premium paid by employee 6,000
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ECp  Gasr@&sliul(Herer  sseuws6iel (HHII

afledSudneflu  gar®hs  sbuTsSaers

&a (HL91q. E&H6LD.

cllugIgET 1.
Blarg gbuerd QuHDg 72,000
aupLomer aufliilig &b QFigg) 4,000
Qsmfle euflidiy s Qeiisg) 1,200
G& LS 1y Dars paeraf 9458 pevannsbsrans 1,200
I () eUTLm&&ETs FbLETSSH D GigSS51D QFLigg) 3,600
Qsmflemefl Qe pujer sTUSEH wpaaTob 6,000
Or

(b) Examine the Tax treatment of the following
allowances received by Mr.Kasi Employed in

a Private Company.

S1.No. Particulars Rs.

1 City Compensatory allowance 5,000 p.m
2 Tiffin allowance 300 p.m
3 Servant allowance 1,200 p.m
4 Entertainment allowance 9,000 p.m
5 Uniform allowance 600 (Fully Spent)
6 Tribal area allowance 300 p.m
7 Marriage allowance 300 p.m
8 Overtime allowance 150 p.m
9 Helper allowance 80 p.m (50% is spent)
10 Project allowance 100 p.m
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saflwrt  Hlneuarsde vaflyflyn  SHm. sré
Saurgar Qupp Lgs@ErssTar auflsSTameisamar

<6 GlFwlis.

Sl.No. eAlLFRIGeT 5.

1 BT #Mésl (S Lig ST 5,000 p.m
2 Sbmiesrig L1 L1lg ST 300 p.m
3 Ceuenawim_&eT Llg.&aT 1,200 p.m
4 QurpgCurs@ Lig 9,000 p.m
5 EmeL I Lig&aT 600 (Fully Spent)
6 LLPBIGl UGS Lig Ser 300 p.m
7 S(HLoaTil Lilg &HeT 300 p.m
8 F.(H5D GCouanaGBILI Lilg ST 150 p.m
9 2 HeAWIMET Lilg &a6T 80 p.m (50% is spent)
10 S OLgser 100 p.m

13. (a) Find the Gross annual value in the following
situations for the assessment year.

(Rs. In Thousands)
Particulars Names of House Owners

Ajay Vijay Vinay Raju Ramu Hari

Municipal Value 21 22 35 41 50 44
Fair Rental Value 22 20 39 43 45 55
Standard Rent NA 23 49 40 NA 47

Actual/Annual Rent 17 28 47 42 60 41
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&Gy Qasrhssliul(Herer aflupmsaflel®mbg el
e SlLiLmesTiq M, 2 Ml Qwrss <2407 (h)

il enens Ser(HL491q &6 D. (ermLimuy
2pUiTSEled)
eNUpmBIGET &I 2 MenwwmerMer QUWITGET

<l el efles gmel gy ani

BEITLE HL 21 22 35 41 50 44
M 6L iq 6 Lol 22 20 39 43 45 55
Blepeowimes eurL_eng NA 23 49 40 NA 47

o ameowiner/ perh euriens 17 28 47 42 60 41

14.

(b)

(a)

Or

Enumerate the incomes from House Property
which are wholly exempt from tax.

afls@iu S0 eumwrarsSaimhHa Lp(PeugiD
elevgEL Qubp 6SL_(H eumTammhsmeT cdlauifl.

The Net profit of Mr. Sulaiman of Madurai
as per his Profit and Loss Account are for the
year ended 31.3.2019 after charging the
following item was Rs.3,40,000:

Particulars Rs.
@) Interest on capital 20,000
(i) Salary to staff 1,16,000
(i) Office expenses 3,000
(iv) Bad debts written-off 13,000

(v)  Provisions for income-tax 16,000
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Particulars Rs.
(vi) Donation 10,000
(vii) Depreciation 17,000

Depreciations allowable as per the Act is
only Rs.12,000.

Compute income from business.

wglanyuiled QMEGL Fm. e eursafler
31.3.2019 prCerm(h (plgeienL WD ,6TiqMHaTen

@eomruibd e5.3,40,000 Ep&sTamIb
#M&s HsasEL WnE CupliulLg).
eAluphisaET €.
@) WPse 85 eul_ iy 20,000
(i) SRS ERESTET FDLIGTLD 1,16,000
(1)  S@eIss dFwa|sar 3,000
(v)  aupmésLar CursGswdus) 13,000

)  eumwrer auflssrer &riL @gI&E 16,000

(vi) penQamen 10,000
(vii) Csuwiorand 17,000
sl LU SI@ISGSLILIL L CaWiLomenid

.12,000 i@ CAsmhd  eumLTaTSMmSE
S (hL91q HFH6 LD.

Or
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(b) Mr. Krishna has the following machines in
his  production department. Compute

depreciation:

(1) Machines as on 1.4.2016: Rs.
(1) Machine A 50,000
(2) Machine B 50,000
(3) Machine C 10,000
(4) Machine D 25,000

(i1)) Machine X purchased on 1.5.2017 25,000

(i11) Machine Y purchased on 1.12.2017 50,000

(iv) Machine sold:
(1) Machine A and B on 1.6.2017 50,000
(2) Machine C and D on 1.11.2017 59,750
(v) Special training expenses for Machine Y 5,000

. Smegemr gearaenlwl 2 HUSSH FHevpuild
Epsasramid  Quibdrhismer  aeuSSHHSSTT.

CaWinrangens saumsdl (Hs.

() 1.4.2016 & o drar @upBrrisdr .
1) @upHrid A 50,000
©2) QupdroB 50,000
(3) @upHrioC 10,000
(4) @upBrioD 25,000

(i) 1.5.2017 & Qupdyb X Gararpsd Qeusg 25,000
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(1) 1.12.2017 & Qupdrd Y Qarerpsd Gawuigg 50,000

1v) Quidrd clhuamer QsLFE) :

(1) @updrd A wpmp B on 1.6.2017 50,000
(2) @updro C wpms D on 1.11.2017 59,750
V) Qupdrd Yésnan Spliy uuinss Qeeweyser 5,000

(a) List out the powers of commissioner
(Appeals).

Cuoawenulil h <geoamufer SHamymisamert
Ul (BHs.
Or

(b) What are the Objectives of conducting
Income Tax survey?

QU(MLDTEBT cu&Gangenen CupOsmearaser

Crr&smhIs6T Wrenel?

SECTION C — (3 x 10 = 30 marks)
Answer any THREE questions.

Sunil earns the following income during the
previous year 2018-19.

Particulars Rs.
(a) Interest from an Indian Company received in Germany 1,00,000
(b) Pension from former employer in India received in UK  2,00,000

(¢) Profits made from a business in Hong kong
which is Controlled from India (half of the
profit being received in India 20,000
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Particulars Rs.

(d) Income from companies in USA and received in India  1,00,000

(e) Income from Agriculture in USA and received in India 10,000
() Income form employment in Japan received there 20,000
(g) Past untaxed profits brought to India 50,000

Compute Gross Total Income Sunil for the
Assessment year 2019-20, if he is:

(1) Resident and Ordinarily Resident in India

(i1) Resident but not Ordinarily Resident in
India

(111) Non Resident in India.
gafled  ereieu  2018-19 b  mrHoreTge  GuHD
au(mLomen eSlLITLD LleTeu(mLomm) :

NUphIgET .

(=) @bdHwu Pmwsder aul iy Qegiioeafiuiiey QuHDE 1,00,000

()  penamme @bEw epgomreiulLBlmHs)

euapduib UK e Quplini L g 2,00,000

(@) anmasThgd parl QUi Qgmd @bduirele

QoHE 5 HULHSSUOHE DS Seuple

g @erud (LEd

@emubd @bdwrelled QupliLit L g) 20,000
USA aflev 2 aremblmio eu(meuml

@pdHwreded Qupliui’ L g 1,00,000

USA &éd 2 érar efleusmu eupLomesid

@pHwreded Qupliui’ L g 10,000

(2ar)  eouimefle Qs Colamadsme a(HLOTETD

SmCsCw QupliL L g 20,000
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(er)
QrHuraing

Qarerr(® euyliLl L g

aufl gl&asILL TS (pHensl @a T

50,000

aufledfliiumanr@® 2019-20b <y ewrgpaTer  &efadler
QLTSS U(HLOTETSMSE SETdhE L6 L.

®
(i)

@pduredle Blrbsrs @lgwfan Qubpeur
@pHwmeller sHaTeds @l wfleno Qubpeur

(1) @pdHureled Glguwfeno QUDTS6UT.

17.
book as per cash

Kumaran a lawyer by profession keeps his cash

system of accounting. The

following is the summary of his cash book for the
year ended 31t March 2019.

Receipts Rs.

To Balance 5,000

To Fees 35,000

To Remuneration as

examiner 3,000

To Interest on bank

deposits 2,500

To Rent from house

property 8,000

To Dividends 1,600
55,100

Payments Rs.
By Rent of Chamber 2,400
By Car expenses 3,600
By Household expenses 12,000
By Local taxes for the
house 1,200
By Repairs of the house 4,000
By LIC premium for self 4,800
By Cost of books for
profession 4,000
By Medical treatment of
self 5,000
By Balance 18,100
55,100
12
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Additional information:

(a)

(b)
(©

(d)

1/3 of the house is used by Kumaran for his
own residence.

Kumaran is insured for Rs.40,000

Kumaran has to get medical treatment for
an eye ailment caused by intensive study of
law books.

% of the car expenses related to personal use
of the car by Kumaran. Depreciation
computed at the prescribed rate on the
written down value of the car is Rs.2,000.

Compute his income from profession.

usSd @Grar saraieLw Qsmiassilu, ghsmar
Qrrésds semsdwa wpenpule uproflsSprT, wris 31,
20190 prGerm(® (plgeuen D T haTer Clrmss
el ig 6 QMm@ L] lemau(mLomm).

Qumis@sET . Qo@ibgidsdr 6.
QAsTL58 @) h&s 5,000 Geburm eurens 2,400
&L L_awTid 35,000 & Qeeeyser 3,600
S IGUTETIT 2erlwiLd 3,000 &fi_(h& Qgaaysar 12,000
auiidl el euligse 2,500 el ighamen 2 e el 1,200
&S eurens 8,000 &l LpgILTTSS6D 4,000
LIBIS TS TIIBIEET 1,600 gané@fw <pujer smilSl G wpevarod 4,800

Qsmfler LisgsSShaTear oiL_&sid 4,000
(S SIeuE QFaweysaT 5,000
Qo Boiy 18,100
55,100 55,100

13 1284



18.

& (NSHE H&HEUCDGET :

(=)

epaTdled G(h LIMkI@ il lgen @Ger sear CFmbhs
o LCWsSS DTS LT (H&SerTi.

@Lorer e5.40,000 8@ smilH Celig @ mbsTT.
FLLLU LSSSMISMET Follbhg LqSSSETME) eI L
ST UlEETE G  WBSHesF SdlFms
CunO&merm.

urdl asmi QFeoe|ser @Gyem Seraemul CFmbhs
o LCWTE5SHE, LWGTUHSH L DESTETS).
@mDBHE Qe @ Ly paopuled samss( CFis
Gswinmrenid em.2,000.

S|GU(HENL_LLI Qg mde QU(HLOTGITSHEN S
FTSEL_aD.

Sri Rajeev furnished the following particulars of
his income for the Financial Year 2018-19:

Particulars Rs.
(a) Salary 15,000 p.m
(b) Dearness allowance 1,250 p.m
(¢) Entertainment allowance 1,000 p.m

(d) Employer’s and employee’s contribution

to a recognized provident fund each. 24,000
(e) Interest from provident fund @ 9.5% p.a. 19,000
() City Compensatory allowance 200 p.m
(g) Medical allowance 10,000

(h) He has been provided with the facility of

An unfurnished house by the employer in

A town (population less than 10 lakh) for

Which the employer charges Rs.500 p.m.
The fair rent of the house is Rs.30,000 per
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@

Particulars

annum.

The house is owned by the employer.

The employer has employed for him a sweeper
@ Rs.200 p.m., and a servant @ Rs.750 p.m.
Compute the taxable income under the head
Salary for the Assessment Year 2019-20.

Slm. pregoeu &l panr(h 2018-19 m@ 2 Mw seranent_u
EPEETEmID cU(HLOTET aNLITRISEETS &(HEA M.

eUIpBISET
FOLIGTID
. (HBD SiselleneLitiig
Qumpg CunsELiuig
wpgemef wpmibd Qgmferefufer
omdsfssiul L Caope Hlfsamear LkigafliL

Cewpe HlHulembg SHean_ss cul_ly
<&@ 9.5%

BT HwmsL Lig.

LBSGIIL Uiy

SIUHSE (pSeTafl Siempsoady 65 eearenn
5.500 cur_enaswidd sieflggmr (10
DLESHDEGID) GepmeUTen &&ET QHmend 2 6Tar
Layer). wrdfl eI ( eur_ans @THEE
e5.30,000.

9bs 10 (paoralls@s QempsoTang.
SaUMEETS (pgorafl ai[H sl [HLeUmT OTeE
gbuemd 5.200 eSsupbd e uallwreareny wrss
gbuembd 5.750 eigpb Fluiwend Qeiigm.

aufledlSliimenT(h 2019-20—p & mewr
QU(BLOMTETSHENSE ST L_a{LD.

15

(WE
15,000 p.m
1,250 p.m
1,000 p.m

24,000
19,000

200 p.m
10,000

FLOLIGT
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19.

20.

Mr. Joseph owns a house which is let out for
residential purposes. The construction of the
house was completed in June 2015. The Annual
letting value of the house is Rs.96,000. Municipal
Taxes paid Rs.20,000. He spent Rs.24,000 on
White washing. On 1.4.2013 he had borrowed
Rs.30,000 on pro-note at 12% interest and spent it
on the construction of the house. Nothing has been
repaid out of this loan so far. Mr. Joseph earns
salary off Rs.20,000 per month. He has a scooter
for going to office and spends for petrol, etc., on an
average Rs.1,000 per month. Compute his Income
from House property and his Total income for the
AY 2019-20.

Hm. Cgrell gas@s Cempsorer @@ el
G UBLUSHETS UTL &S ADIDISSTT. AHS &3
soan 201560 sy (puSSLULLE. DBS el lger
Qe eurLens iy e5.96,000. pspml gl euflser
QeusHuwg e5.20,000. el GeueTenaTig ILIGDHESTS
5.24,000 Gsewey Caswuismt eur 1.4.2013 emm
HCrmGrri(® erpdls Car®sg er.30,000 sLer 12%
el g llfgsder Qubm <iBs 6 qer sl HrasdnE
Qeewa| CFwsTT. Hss sLar sHELTE ey SHHOUEF
QegudziiuLedlieame. Fm. Comell LIsE FbLETOTS
e5.20,000 FFL_Lg GOTITIT. U SETED) EHL_LLI
SDIUDESH DGF CFDLeUSNETS V&l LT Q6N eUST
Qopsnt  aupdldE @m; wiesdnE syrefluns
e5.1,000 QUL Crre)sarss ALY Qg
aufleldliumanr@® 2019-20 pasrewr  Seurg eI
QU(BLOTETSENSW|LD CILDTES GU(HLOTETSEMSU|LD SenTddl(Hs.

Describe the powers and functions of the Central
Board of Direct Taxes.

CBDT-er uienflser whmid oifsrrhsemner aflaufl.
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NOVEMBER/DECEMBER 2020

BSCM56/BCP42 — PRINCIPLES OF
MARKETING

Time : Three hours Maximum : 75 marks

SECTION A — (10 x 2 = 20 marks)
Answer ALL questions.
What is a market?
EHENG GTGTMITE) GTEITGT?
What is assembling?
ST (Hze (=) gemm CFTSHE TETMTED GTeTen?
Write note on concentrated market.

Qedapl L LUl L. (Sdegl) Gelbglerer Fhensudler
GO eT(p5)s.

Who is a ‘Laggard’?

“Clogleums BLLILGIT GTeTLIGUT WTT?

Give the list of four P’s marketing mix.
sherslILIHSSHSD  soeeuulen  pran@ G Eseflen
UL Iq WIEDES S(THs.
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10.

11.

12.

What is product mix?

QUIT(HET HEOENEU GTETMTED GTETET?

What is skimming pricing?

THHE GDNSH6 NEMaD GTETMHTED 6TETET?

What is a channel of distribution?

eI Cwims euLfl eraTmTEd GrebTEnT?

Define social marketing.

&0p& FHMSLILI(HSHISME 66D TULIMI&ESE]|LD.

What is over marketing?

9185 FHESLILHSHIHE GTETDT6) GT6TEN?
SECTION B — (5 X 5 = 25 marks)

Answer ALL questions.

(a) Explain the causes of remarketing.

oLm  FhDSULHSSHSNSHTET  STTCTHISEET
AR
Or

(b) Explain the functions of transport.
Curs@eursdlen Liewtlsamer 6ll6md:@s.

(a) What is the product segmentation?
QumrpLsefler 96 eremmmed ereven?
Or
2 1300



13.

14.

15.

(b)

(a)

(b)

(a)

(b)

(a)

What are the rules protecting the interest of
the seller?

elpuenenwumerflen Hoear UMHETEGL NS ser
WITeneu ?
Explain the advantages of brand name.

&7 DfepLwimer Guwfen pemenLosaner allemd:@s.

Or

Explain the circumstances in which the
product mix is contracted.

Qumrmer  somel aTHOFHS  GpHlmogafla
F(HBIGLD GTeTLIENS N 6Td: @

Explain the three main pricing policies of the
marketer.

shensliL(hSgLeufer eparm  (pHHW  ellanerd
QaTaTenasamer allers@s.

Or

Distinguish a departmental store from a
chain store.

FRIGNSCASTT SepLule(BhHg Sievm SenLanil
CaumL(h&sImISET.

Explain the evaluation of e-marketing.
e sbensLiLi(HSsedlan UL L ellerd@s.
Or
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16.

17.

18.

19.

20.

(b) Describe the re-marketing.
n FHesLILHSSO LD efleufgEseb.
SECTION C — (3 x 10 = 30 marks)

Answer any THREE questions.

Explain in detail the various approaches to the
study of marketing.
FHSLILI(HE SIS Uig LIS met uGaum

eI @&perpaaflern alleurmisamer aNlemd@nIGerT.
Describe the various methods of market
segmentation.

shens Uil Mellen LGeum (penmsaner efleflEgeLb.

Explain the various stages involved in the
introduction of new product.

yHw  Qurmer dlpssHer mEULBerer  LidGaum)
BlenaEenaT 6l6ams @ miseT.

Explain the factor influencing pricing decisions.
elleney (plg-a|saner LITES@GLD Sryewtsanet ilerd @ miser.
Briefly explain the characteristics of online
marketing.

Blaphlane  shasliuBsgsdlar  AplibueLsamar
oNleT&H @ mIsET.
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NOVEMBER/DECEMBER 2020

BCP34/UCP34 — MANAGEMENT
INFORMATION SYSTEMS

Time : Three hours Maximum : 75 marks

A o

o

10.

SECTION A — (10 x 2 = 20 marks)

Answer ALL questions.
Define MIS.
What is dataware housing?
What is knowledge management?
What is the evolution of MIS?
How can you plan a system?
Define System Design.

Write any two data  processing  group
responsibility.

What is inventory control system?
What is system audit?

What do you mean by Manual Information
System?

1316



11.

12.

13.

14.

15.

(a)

(b)
(a)

(b)
(a)

(b)
(a)

(b)
(a)

(b)

SECTION B — (5 X 5 = 25 marks)

Answer ALL the questions.

Describe about the web databases.
Or
Write short note on Information in MIS.
Write notes on office Automation System.
Or
Write notes on exclusive support systems.
Give short note about system planning.
Or

How to organize a file?

Describe the top management
responsibilities.

Or

Define production and accounting system.

Write short notes on development and
maintenances of MIS.

Or

Write short notes on expert systems.
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16.

17.

18.

19.

20.

SECTION C — (3 x 10 = 30 marks)

Answer any THREE questions.
What are advantages of Data warehousing?
Explain the various types of information systems.
Explain the process and stages of system design.

Describe the data processing groups’
responsibility.

What are the roles played by computer in MIS?

3 1316



NOVEMBER/DECEMBER 2020

BBA32 — MANAGEMENT ACCOUNTING -1

Time : Three hours Maximum : 75 marks
SECTION A — (10 x 2 = 20 marks)
Answer ALL questions.

1. What do you mean by Financial Statement?

Bliglfleney oibléens ererugem CQUMmET eTeme ?

2. Give any two objectives of Cash flow statement.

gCasaid  @rawnrh Qyrés BT L dléamsuden
CrT&aRBI&EmeT &(Hs.

3. What is the need of Management Accounting?

Cuerarend saursdwadler Coamel wirg ?

4. Define Fund flow statement.

HlE UL osmasamw euamrwm.

5.  What is Solvency ratios?

Sira| NElFmsET eTaTmTE eTerTe ?

6. Give the meaning for Trend Analysis.

Cursamiie] eramLigen QUTHET H(Hs.
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10.

11.

12.

What is Ratio analysis?

M&lg LiGUUTLIG ETETDTE 6T6bren ?

How to preparation of fund flow statements?

BlE pLwbr L flsmsulianar ereueumm Suimliiimii?

Write a short note on Profitability Ratio.
@oru s @&Nss e fn @GNl eumys.

State the Comparative Balance Sheet.
UL H @iy Blavews @Ghllienus sams.

(a)

(b)

(@)

SECTION B — (5 x 5 = 25 marks)

Answer ALL questions.

Explain the nature and scope of
Management accounting.

Cooramenn  semsSlwedlen  @uieb  HmID
TmEMeTs &N Sg elleuflEsalb.

Or

Explain the advantages of financial
statements.

fﬂg\l‘r_ﬂmm <M &enaul e [5GOTGM LD& G 6IT
af&&eyLh.

Explain the nature of financial statements.
HlE ohsamsuien serenoan a9lems @ kiserT.

Or

2 1412



(b) Calculate the trend percentages from the
following figures for Priya Enterprises
taking 2005 as the base year

Year Sales Stock (Rs. in lakhs)

Rs. Rs. Profit before tax
Rs.
2005 1,881 709 321
2006 2,340 781 435
2007 2,655 816 458
2008 3,021 944 527
2009 3,768 1,154 672

2005-1b Y@l gLl eI TS
Qarar@®  GAlwur  Bneuarsder  1Gemeumid
Meurriseflelippg  CursE  sseildlgsslanan
sasS(hs. (UM Qe F55l6)
el lduemer  Frsdl(mLIL auM&@ (e
2 @Tar @emuib

{b- {h- {b-
2005 1,881 709 321
2006 2,340 781 435
2007 2,655 816 458
2008 3,021 944 527
2009 3,768 1,154 672
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13. (a) What do you understand by Ratio analysis?
Explain its significance and uses.
Adlgs uELiuTLe] eped Brsear ererer UMb
Qarardldirger? ger  (WPSHWSFHeUSMSLD
vweTurhseerud 6lerd@s.

Or
(b) Calculate Gross profit ratio.
Rs. Rs.
Sales 2,20,000 Purchases 1,75,000
Sales Return 20,000 Purchase return 15,000
Opening stock 30,000 Closing stock 40,000
Qwrss @eru aldssms samsd(Hs :
- -
aflhuenan 2,20,000 Csmerepsed 1,75,000
eflpuenar Sapriib 20,000 GsmaTipse Sl@uun 15,000
A ss sysdlGrL 30,000 @& srsA L 40,000

14. (a) Calculate Fund from operations from the
following Profit and Loss a/c.

Rs. Rs.
To Expenses 1,00,000 By Gross profit 2,00,000
To Depreciation 40,000 By Profit on
To Loss on sale Sale of land 20,000
of building 10,000
To Discount issue
of shares 6,000
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Rs. Rs.

To Goodwill 12,000
To Net profit 52,000
2,20,000 2,20,000

Epsar.  @eru  pLLE  sawsSll(mhg)
Qawdeufl HlSullaner seamsd(Hs.

- -
Qeaallamiser 1,00,000 ©lrgg erub 2 00,000
Cgwiomenid 40,000 Blaow &fpogle
sl igL b ellhmdled @emruibd 20,000
gHuUL L BULLD 10,000
sfla] UkG
QeuafluS® 6,000
BHGLWIT 12,000
Bl&r @eruib 52,000

2,20,000 2,20,000

Or

(b) What are the limitations of Fund flow
statement?

HlE @l L iMlEemsudler eupbLsET 6Teimen ?
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15. (a) How cash flow statement differs from Funds

flow statement?

Qyrés  BLLILL  dsams

BlE BT

SiMsanasulledl(mbg ereueumn wrmiLGEDG 2

Or

(b) From the following Profit and Loss alc
compute cash from operations :

To Salaries

To Rent

To Provision for
taxation

To Depreciation
To Goodwill
written off

To Proposed
dividend

To Loss on sale
of land

To Net profit

Rs.
5,000 By Gross profit
1,000 By Profit on
Sale of land
5,000 By Income tax
2,000 refund

4,000

5,000

1,000
10,000

33,000

Rs.
25,000

5,000

3,000

33,000
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Gemau@ld  @eru  BLL  Sewssled(phgl
Qewpurp Crréssms samss(Hs

- -

FOLIGTLD 5,000 QrEs Georuib 25,000
QUTLan& 1,000 Ao apuemarda
cufleli Sl namen @aomuib 5,000
ghum@ 5,000 @I(Bwrer eufl
Cauiored 2,000 @b 3,000
BHEAUWIT er(pdluig 4,000 Qupriu L g
er@umOuiiur
ray Ugrens 5,000
Hle aflpLenarued
Qv 1,000
Blar eruLb 10,000

33,000 33,000

SECTION C — (3 x 10 = 30 marks)

Answer any THREE questions.

16. Explain the advantages and limitations of
Management Accounting.

Guararenn sarsSwellenr Bereno WHMID SannsEeamer

adleul.
7 1412



17. Calculate :

Rs.

20,000

(a) Gross profit ratio
(b) Net profit ratio
(¢) Operating ratio and
(d) Operating profit ratio
Trading and Profit and Loss a/c
Rs.
To Cost of sales 16,400 By Sales 21,000
To Gross profit c¢/d 3,600 (-) Sales return 1,000
20,000
To Administrative By Gross profit
expenses 1,300 b/d
To Selling expenses 700 By Income from
To Depreciation 200 Investments
To Interest 100
To Net profit 1,500
3,800

EpaaL cleurnisamend Clamesr(h

(=)

Q@wrss @eru eldlshn

(<) Hlar @eoru aldsibd

@)
(FF)

Qeweour® eNflsbd wHmib

Qeweur® oru flssms srems.

8

20,000

3,600

200

3,800
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elwrumy eru pLL &/

- ®
AhLiemer B|L&sid 16,400 @puear 21,000
@wrégs Geomun 3,600 (-)efpuaer Hpuiund 1,000 20,000

20,000 20,000

Hlireuns Cseaysar 1,300 @wrés Geomun 3,600
apuemer Qe sar 700 PSS igd Qupp
Cswioreard 200 @emuibd 200
QUL lg 100
Bay @b 1,500

3,800 3,800

18. Explain the advantages and significance of fund

flow statement.

BE @l odsmsulear  merenLdEET
WsHWSgauSMmS N6 Es.

OHMILD

19. The following details are related to XY Ltd.
Liabilities 31.12.10 31.12.11

Rs. Rs.
Share Capital 70,000 74,000
Debentures 12,000 6,000
Reserve 700 800
Creditors 10,360 11,840
Profit and Loss A/C 10,040 10,560
1,03,100 1,03,200

Assets 31.12.10
Rs.
Cash 9,000

Debtors 14,900
Stocks 49,200
Land 20,000
Goodwill 10,000

31.12.11
Rs.
7,800
17,700
42,700
30,000
5,000

1,03,100

1,03,200
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Additional informations :
(a) Dividend paid Rs.3,500

(b) Land was purchased for Rs.10,000
(¢) Debentures paid off Rs.6,000.

Prepare Cash flow statement.
XY Blming S e [iF Hlevavenio &G
Qar@&slILL_(HeETerg.
Qumyiiyser  31.12.10 31.12.11 Osmsgiéser 31.12.10 31.12.11

., b 0, b
LB (Peed 70,000 74,000 GrrésDd 9,000 17,800
sLGT LGSTD 12,000 6,000 sLamaflseT 14900 17,700
ST 700 800 STEE®BLY 49,200 42,700
sLa BT 10,360 11,840 Bled 20,000 30,000

Qeru pUL &/@ 10,040 10,560 BOGLWT 10,000 5,000

1,03,100 1,03,200 1,03,100 1,03,200

T [DBD HHOUDSET :

(@) umisTsTwb Cdeasdwug ep.3,500

(<) Hlewb eurnidlug er.10,000

(@) sLar usHTEAHE QeaisHu e5.6,000.

Qrrés @l L Msms eswmiléEsab.
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20.
Funds flow statement
Liabilities 2014 2015
Rs. Rs.

Share Capital 1,00,000 1,00,000

Reserve 14,000 18,000

Profit and Loss A/C 16,000 13,000

Creditors 8,000 5,400

Bills payable 1,200 800

Provision for

taxation 16,000 18,000

Provision for

doubtful debts 400 600
1,565,600 1,55,800

Additional information :

(@

buildings Rs.4,000
(b)

during the year
(©

the year.

From the following Balance Sheet prepare a

Assets 2014 2015
Rs. Rs.
Goodwill 12,000 12,000
Building 40,000 36,000
Plant 37,000 36,000
Investment 10,000 11,000
Stock 30,000 23,400
Bills
receivable 2,000 3,200
Debtors 18,000 19,000
Cash 6,600 15,200
1,565,600 1,55,800

Depreciation on plant was Rs.4,000 and on

Provision for taxation of Rs.19,000 was made

Interim dividend Rs.8,000 was paid during

Yeraumd @iy Hlow @oluy elursdadmbg, HE
@l L sMsmsiemer gumt Cewus

QumgiiseT 2014 2015  Gemggisser 9014
erh. - €.
LB PHD 1,00,000 1,00,000 BHGUwr 12,000
sy 14,000 18,000 &gl 40,000
Georu sl s/& 16,000 13,000 Qurdleas 37,000

11

2015
€.
12,000
36,000
36,000
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QurpiyseT 9014 2015 CsTsgIEs6T 2014 2015

. - . .
sLapGgT 8,000 5,400 @aSHser 10,000 11,000
CEEETIGUIT FrsAmUY 30,000 23,400
WIHDIEE [ 1,200 800 GumasHEiu
auf&sner wrHoIEE [ 2,000 3,200
PGS 16,000 18,000 Stenmaflse 18,000 19,000
DWISEL_6T Qrrésid 6,600 15,200
PG 400 600

1,55,600 1,55,800 1,55,600 1,55,800

Fa(HFed NLIPBISET :

(@) Cswwrernd : Qurdleuens 54,000 &Lligl Lb
¢fh-4,000.

(<) BLUY e eufllssrar @gisE 5.19,000

2 (HeUM&GSLILIL L .

(@) BLUY g @Q@LEETER UBISTSTWID
€5.8,000 Ceaussriul L g).
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NOVEMBER/DECEMBER 2020

BBA33/UBA33 — STRATEGIC
MANAGEMENT

Time : Three hours Maximum : 75 marks

SECTION A — (10 x 2 = 20 marks)

Answer ALL questions.
What do you mean by business system?
Ml UL GTETDTE) GTEIET ?
Define vision.
Qzreney Crmé @, LITTeneU-eleFuiml.
What is meant by corporate strategies?
Blmieuer B LIBIGET eTeTLg) WTgl?
What is vertical integration?
Qem@GSSTaTn e (HhISMERTLIL| CTETDHTE) T ?
Write short note on Generic Competitive strategy.
Qumg Curily HLUub G&HsgH dn Gl euemys.

State the reasons for adopting combination
strategy.

gl () HLUUSMS WaTUDMEISHSTET  STTETHISEET
&S,

1413




10.

11.

12.

Define joint venture.
G emenallenar-cuen L.
Write short note on management of changes.
wrHn Cueradrenn GhsSs Sm GOILL eumys.
What are the elements of strategy?
BIL LSS 6T Fnsem Wrene ?
What do you mean by organizational climate?
Blmicuer sreblened eramLig wng)?

SECTION B — (5 x 5 = 25 marks)

Answer ALL questions.

(a) Explain the objectives of business.

cuantlasSlenr Crrasnigamer afleufl.

Or

(b) Discuss the activities involved in the
strategic management process.
HIL LI Cuemeirento pempsafled > GTer

BL_GUIG SNEHEMET 6l6mdh&s.
(a) Explain the nature of corporate strategy.
QuepBlmieuer mLLiSSlen serannapwt el
Or
(b) State the uses of SWOT analysis.

SWOT U@Liumiieiler o> LGWTESSHener

GIMITIGES

2 1413



13.

14.

15.

(@)

(b)

()

(b)

(a)

(b)

Distinguish between Generic strategy and
competitive strategy.

Qurg mLusHh@h, Guriy HILUSHDHESLD

o drer Coumur(hsamens gnmis.
Or

Explain the various types of Growth
strategies.

cuem&sl mIL LSSer cuanssaner alleuifl.
Discuss the benefits of Joint venture.

@ aemallenaruilen BeTenlosea 6llaTE &,
Or

What are the reasons for adopting merger
strategy?

@ emewTiiL BIL LGNS NS W@ 6L SN & TEum
SMTCTRISET WITEHG ?

Discuss the factors causing the unsuccessful
implementation of strategy.

BUU Qewdu@ssed Coroel e eushsrer
srrentlsamer elleursl.

Or

Explain the process involved in strategic
control.

BUU SLOUUT Igd 2 érer  CFwdpanmaaer
elleurfl.
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16.

17.

18.

19.

20.

SECTION C — (3 x 10 = 30 marks)

Answer any THREE questions.

Analyse the role of strategic management in
Business.

cuanflasder mILL Cuoeramewuiear Uk @Nsgl
QY Uie] CFuis.

Enumerate the steps in the process of project life
cycle.

S aumpses spdHuler Qeudumiged o 6rer
LG ES6T HeTéd (5.

Describe the issues and problems in Mergers.
Blnieuer  @eveanrided o eter  SGsbseT  HMID

Grésenamsamar 6lleTé@Hs.

Examine the different types of organization
structure.

flmeiar ewiber LOCM euMmEEMmET U]
Qauis.

Discuss the steps involved in implementation of
strategy.

BIL U SOTéEssSEd 2 drer Ligsamer LHH elleurs.
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NOVEMBER/DECEMBER 2020

BBA34/UBA34 — MANAGERIAL
ECONOMICS

Time : Three hours Maximum : 75 marks

SECTION A — (10 x 2 = 20 marks)

Answer ALL questions.

Indicate the importance of managerial economics.

Cueramenn  Qummpellwedlenr  (p&Slusgicusamnss
GIMIEIGES

What are the limitations of managerial economics?
Cuerarrenols Gummeflwedler @Geapumhiser wrame ?
State the meaning of demand.

Coameu eramuigem ClLIMHET (.

What is perfectly elasticity of demand?

wpoHdlaid QpSpeHunpn Coemeu eTemmmed cTemTe ?
What is meant by demand forecasting?

Coamau (pensamtlSse Temmmed cTeime ?

What is production function?

2 HLGS ST ETETDTE GTeITEHT ?
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10.

11.

12.

Write a short note on imperfect competition.
Blevm@em Cumiig updl Ao GHLIY cuars.
What is marginal rate of substitution?
@nidbleve LS (B aisb ererug wmg) ?
State any two significance of dual pricing.

@%]l_ezll(_a demeudddler 2  WasHwusgeusmS
GINIES

Define 'Duopoly’.
'@ meur wpoHmiflenn’ - euenywm.
SECTION B — (5 x 5 = 25 marks)
Answer ALL questions.

(a) Explain the scope of managerial economics.

GuemerenLo Qummerflwedler TGN
cllaTsGs.

Or

(b) State the properties of indifference curves.

goCrETEHE@E umatGarhsaiien @aTTdewunksamer

GIMTIGES

(a) What are the determinants of demand for a
commodity?

et Cgeneu SoMambiser wreneu ?
Or
2 1414



13.

14.

15.

(b)

(a)

(b)

(a)

(b)

(a)

(b)

Explain the short-run cost curves.

Gndwu sre e Carhamer oflers@Hs.

Briefly explain the objectives of pricing.

cleneuilallerr Cprésmsamen g(mssws elleuifl.
Or

What are the features of perfect competition?

Bleomays Cumiguiler @uidLgEeT wreneu ?

Explain the types of price discrimination.

dlene CugmsT (HF6dlen cuamasameT allemd@s.
Or

Define elasticity of demand with examples.

Coameu Qpdlpsélenws eT(NSSISHTL (D6 6T(LHSIs.

Explain fixed cost and variable cost.

Blevoowrnar Ggwe wHMD LIMUEL  Cswe]
clleTé .

Or

Discuss the various forms of monopoly.

wpomfenwuler LGeum Hlanesamar 6llers@s.

3 1414



16.

17.

18.

19.

20.

SECTION C — (3 x 10 = 30 marks)

Answer any THREE questions.

Discuss the relationship between Micro, Macro
and managerial economics.

miarentlwe, Guflwe WHMILD Blreumselluied
Qeupdlpsrar 2 pay GHlss cfeurd.

Explain the survey methods of demand
forecasting.

Caamou (pensaniigser emei( (papEmar elerdd.

Analyse the concept of elasticity of substitution.
e (B Qpdlpsslulen setensmer <y ule| CFLis.

Distinguish between perfect competition and
monopolistic competition.

womflenwls Curligs@b Hlevpey CuMiig&@d 2 drar
Caumpurhsener alars@s.

Tustrate consumer equilibrium through
indifference curves.

soCprsEE emarCar@sefar o gaflujer msTGeumt
goblaneen ellers@s.

4 1414



NOVEMBER/DECEMBER 2020

BBA51 — MARKETING MANAGEMENT

Time : Three hours Maximum : 75 marks

SECTION A — (10 x 2 = 20 marks)

Answer ALL questions.
1. Define marketing management.
FHaSIL[HSSHD CLOOTETEND GUETUIMIS.
2. What do you mean by sales concept?
cpuener &mGg eTamLgem o LmmeT eremer ?
3. What is behavioural segmentation?
BLEMS FhenGLIGLIL| GTETMHTE) 66 ?
4. What is meant by market targeting?
FHNG @Q)0& @ eTemISem ©lLIM(HeT cremer ?
5. Define sales fore casting.
cpueer (ersailssed U FLmIs.
6. Define packaging.

@UUSUL(HSGISOD QU TLMIG.
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10.

11.

12.

Define pricing.

clleneudl 6 euenyuImis.

What is meant by marketing channel?

QUIPMISED GULPl eTaTLIG6 Ol LIm(heT eTeimen ?

Define advertising.

GlleTOLITD GUEnTUImIS.

Define sales promotion.

cllhueer QUmESSD cUETLIMIS.

(a)

(b)

(a)

SECTION B — (5 x 5 = 25 marks)
Answer ALL questions.

Discuss the approaches to the study of
marketing in detail

shanslIL(OSSlem LOCom <emI &P DT

clleurd).
Or

Write the scope of marketing.
FHSIL[HSSN 6T GTEOMOSHEET 6T(LPFI.
List the importance of studying buyer
behaviour.
cumma&Geumi BLSangudlener Uilq-&&6d bt
wsHusgleausdaar cuflensiLbhSgis.

Or

2 1418



13.

14.

15.

(b)

()

(b)

(a)

(b)

(a)

(b)

What are the requisites of effective
segmentation?

LWIgnieTer shensL(hSsedle @)emlLIenLDuIT6TanLOaL
cuflena IL(SEIs.

What are the different levels of product?
Qumpefler LOCaum Hlaneser ererer ?

Or

Discuss packing as a marketing tool.
Cusdln shensLhSsadlen &medl-alleurs.
State the major functions of marketing
channels.
cupriis® eudlufer LOCeum &S Lenilsamary
upMl Fnmis.

Or
Highlight the pricing objectives.
elleneudl_elletr Crmésmisene (pematleaneliLi(hEgis.
State the objectives of advertising.
cdarbursdlen Crrésnigamerts LHMH gnmis.

Or

Distinguish between advertising and sales
promotion.

cdlerbugd  wHmbd  elpuemer  QUHSSLD
CaumuBsgis.
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16.

17.

18.

19.

20.

SECTION C — (3 x 10 = 30 marks)

Answer any THREE questions.

Discuss the functions of marketing in detail.

shanslIL(pSser Larflaamerts LHH edlfleurs elleurd).

Discuss different types of buying motives in detail.
umka@Ese  Crrmssmsetear  LOGam  cumssMmar
cilfleuns edleums).

Describe the stages of product life cycle.

Qumper eumpsens apHluler LoGoum Havwsamar
afeurl.

Explain various kinds of marketing channels.

aupmsd eaplufer LGean euamasamer afleul.

On what basis the advertisements can be
classified? Discuss in detail.
eSlembud THS SilgLiuenudled

aumsliIL(SsLILREDG ? alfleurs clleurd.

4 1418



NOVEMBER/DECEMBER 2020

BBA 52/UEBA 54 — BUSINESS LAW

Time : Three hours Maximum : 75 marks

SECTION A — (10 x 2 = 20 marks)

Answer ALL questions.
Who is a minor?
GOLOGTIT GTETLIGUIT WITIT?
What is express contract?
QeueflliLien L WITET @UILBSLD CTETMHTE 6T6ITE ?
Define Actual performance.
2 aenwirer HlenpGeuhmibd-eueFellvEHemTDd &(hH.
Give any three types of Damages.
QIS g 6T GTSHTEUS PPETN CUSHEET Fo.Mis.
Who are involved in guarantee?
2 FFTeUTS @UILBSSHd WTOFeremd Limki@ Clumieu?
Who is a Bailee?

@UUMmL 6| CUmILGIT eTeTLIaUT WITT?

1419




10.

11.

12.

Define Agency.

(PSEW-UM TN OEHETLD &(TH.

What do you mean by Ratification?

WerCarpLy Qeu1se eremLgem CLmmeT eremer ?

Define sale.

puemar-cuamrellssamTd H(hs.

State any two rights of Resales.

oMl
S(H.

(a)

(b)

(a)

(b)

dpuemansarear o fepwsedr gCsaud @ rer(H

SECTION B — (5 x 5 = 25 marks)
Answer ALL questions.
What are the essential elements of contract?
RUILBSSSH6T (PSS FnniseT eTeime ?
Or

Write the kinds of consideration.

LDQ_H_IU_IGUﬂG'DT CUMSHHNET 6T (LDG-

Who must perform the contract?

euubsd wryred HlannGeupmriu. CeuarHibd ?

Or
Explain the discharge by mutual Agreement.
ugevUy 2 L eiLilg Senaudlen ePQLD
NP UIL-efeur.

2 1419



13.

14.

15.

(a)

(b)

(@)

(b)

(a)

(b)

What are the difference between contract of
Indemnity and guarantee?

QUSlgHEGD, 2 5sTME GUUBSHSERGELD

@ e Cuiujerer GeumiLImHEET eTeimer ?
Or

Explain the consideration in a contract of
bailment.

RUUMLG| @UUBSD eathler WwmLwer UbD
T(PGIS.

Explain the way of agency.
wse@wuler 2 (maurssd UM afleufl.
Or

Who are called mercantile agents?

cuentls (PSHEUTSHET GresTm) wrGyedeomid
SDP&GSLILI(HIGUIT?

Explain the rights of an unpaid seller.

dene@umrs  ellpuemarwuraier o Mapnsamers
Fa ).

Or

What are the rules regarding auction sale?

ge alhuemer Qgriurer eldlpenmser eremer?

3 1419



16.

17.

18.

19.

20.

SECTION C — (3 x 10 = 30 marks)

Answer any THREE questions.

Discuss about rules governing consideration.

wpUWee  SLEUUESSHD QpHoaierLw  elldser

L efeur.

Explain the essentials of a valid tender.
FULUUG  OQFbessmiqll @f  e@UUbBSL
@eTHLIDWLITS SnmIFHET WTena ?
Describe the types of bailment.

euiLeLeiler auamsser LHM afleurl.

Discuss the types of agents.
wsaflen cuamaser Lupdl clleu.

Explain the classification of goods.

FT&E 6T UEMSSHET 6T6T(0lETETET.

Lyeraflud e
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NOVEMBER/DECEMBER 2020

BBA53 — COST ACCOUNTING

Time : Three hours Maximum : 75 marks

SECTION A — (10 x 2 = 20 marks)

Answer ALL questions.
What are the main objects of the Cost Accounting?
SLssllre sansSwdlear s Crrssmiser
WITen el ?
State any two limitations of Cost Accounting.
SIL &S5 FHTE S W 60l 6ot gCaenid @ yasr(H
GpLThsmer GDLIEG®HS.
What is meant by tender?
QL@GRTLiT eTemLig wng) ?
Calculate costing profit from the following
information :
Profit is 10% on cost, the cost of production is
Rs. 2,50,000 and Selling and Distribution
overhead is Rs. 25,000.
Yemeu(mld saeucsaflel(hhg Qemusams sarsd (hs.
@oru Cwrss dgweler 10 5D @b, 2 HUSSHS
Qseey @p. 2,50,000 wHMD Hpuemer WLHHILD
MBCwrss Cuhblswe e em. 25,000.

1420




10.

What is meant by material control?

QumpeT SLHLUUT® eTerLIg WTgl?

Give the formula to calculate re-order level.

oLn Yo Aetellear  sETLOUD  GHSH TSNS
(SIS

What is Labour Turnover?

QETHGTETT L|TeTe eTEmmTE ETETe ?

Calculate wages for a worker a from the following
information by Rowan method.

Standard Time 8 hours. Hourly rate is Rs. 12.
Actual Time for worker A is 13 hours.

Crreumen (peppritly Spsart efeurhisaiad(hhgl e
QzmlenaisE smedlanw sarsdl (b s.

Blevoowrnear GCprib 8 wanfl Crybd @b, wartlChy
Mdlsd . 12. A eean Gzmfemert eTHSHIEH
Qarer Crrib 13 wewtl ChIb @b,

What is meant by absorption?

2 ' S6UM6 GTETMITED GTEITEM ?

Write short note on Primary Distribution.

st MECWTsD @GNss HAn @Dy cuanrs.
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11.

12.

(a)

(b)

(a)

(b)

SECTION B — (5 X 5 = 25 marks)

Answer ALL questions.
Explain the steps which should be taken to
install a cost accounting system.

SLssls samsSue  pepaw  Hime
Th&s GCeuanTiqul BL6llq&EMEEMeT 69l6md@)s.

Or
In what essential aspects does cost
accounting differ from financial accounting?
B8 samsHwuadmbg i sselaawds sHamsdlwie
ereueumn CoumuBEmg) ?
Write short note on ABC analysis.

ABC u@uiuriey @hss dm @hiy euamrs.
Or

From the following particulars, prepare an
estimate for an Job.

Direct Raw material used - Rs. 2,000
Direct Wages paid - Rs. 4,000
Factory Expenses 60% on wages.
Office Expenses 20% of factory cost.

The tender should include a profit of 20% on
selling price.

3 1420



13.

(a)

(b)

Aereu(md efleurmigefled(pbg e Couamavdsmer
wdieLs surfléseyb.
Cririg epeoliQurmer LwerLBSSH gl ep. 2,000
G gncl QaThSsg p. 4,000
Qsmherene OQFweaser Fnedlulldy 60 &sib
ThHSSLILILL ). DIV Qe sar
Qamfiherane IIL&&55S D 20 gD
ahsslulLg. QLar i surfsgh Gurg
@aeorubd epuemer cleweuler 20 51 @)(HES
Cauar(hib.
State the requirements for the effective
control of material.
QumrmLseer Spebwns s_(HuubhSgeusnHE
Coamauwmareupern GHLIEHS.

Or
Two components A and B are used as follows:
Normal Usage: 50 units per week each.
Minimum Usage : 25 units per week each.
Maximum Usage: 75 units per week each.

Reorder Quantity: A — 300 units ; B — 500
units.

Reorder Period: A — 4 to 6 weeks; B — 2 to 4
weeks.

Calculate for each component:
(1) Minimum Level

(11)) Maximum level

(1) Average stock level.
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14.

(a)

A vompd B gbu  @Qran®  semser
emeu(momm L6 (HES LI (H Sl emmen.

@Queurer m&Te) : aMfEHnHE@E 50 HOGSET
@6ubeumermLd

GSODPHSULE H&Te| @ uTSSNE 25 e EGHer
@eubleureTmiLd

Sfsul s mETe] @ aumfsHn@E 75 HOGSET
@euGleumeTmiLd

on e Hleavpn : A — 300 e@ser ; B — 500
S|V GSET

Lm Ygmend st : A — 4 Smpg 6
curriiger; B — 2 eSl(ppgl 4 eumyriger.

@alCleun(p snmi&H@LD

1) EopHSULF SjeTey

(i) ofsuls ere]

(i) egrref grésere| HeT(HAigss6,LD.

State the important features of a good wage
system.

@m  poe  oadu  pepuller  (psElw
S DEFRIGENETS T[S,

Or
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(b)

Calculate wages for workers X and Y by
Piece Rate method and Taylor’s differential
piece rate method from the following.

Standard time per unit is 15 minutes.
Normal rate per hour is Rs. 9.

Differential piece rate are that 75% of piece
rate for below standard

Workers and 125% of piece rate for above
standard workers. In a day X produced
30 units and Y produced 40 units.

Normal working hours per day is 8.

19 6treu (e aaTeu Dl 0l (B b3 X LHMILD Y
Qamfleoreris@Enssrar sadwusms giar®h 6is
e wHmb Crwiefear Caumpul L gearh s
PO LD SasS (hs.

Blevoowimer Grrd - 15 HBlLb @ SedbE@

FTFTrenT da.ad - ah. 9 e wantl CrrssnE
Capur L gear® lfsbd eramarCleusmnmed
2676 &SDDEUTS 2 HLSS) Qewg
Qamfleoreris@rds@ 75% Sl aIsupbd, SfeTay
<dlsors 2 pusd Ceswug Csmemarisenss,
125% glam(h) 6Ish eUPBSILL 2 6TeTgl. &b
Bretled X 30 @GS Ehbd, Y 40 @GS EeTD
2 HUSH QFUISTTEHET. Q@ BIEETHE &S TTewT
Ceuanev Cpyid 8 wanfl CHrd <@ .
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15.

16.

17.

(@)

(b)

Discuss the types of overhead on the basis of
element of cost.

SLESE Fo M ST 60T SllgLlitenudled
Cuopsweysafien euamasamerts LHH elleurs).

Or

Explain the methods of Secondary
Distribution.

@ueawrLmd  Hlevew NFCuTaEsSen (pevmsenar
elleurfl.

SECTION C — (3 x 10 = 30 marks)

Answer any THREE questions.

Cost Accounting has become an essential tool of
modern management — Comment.

ILssllae sansdud peiar Coamaranuld e
W& smelwrs wrdluearerg — afleursd.

ABC Ltd. provides the following information from
its costing records for the month of July 2018.

Rs.

Stock of Raw materials as on 1st July 2018 11,500

Stock of Raw materials as on 31st July 2018 12,800

7 1420



Purchase of material 27,500

Direct Wages paid 17,500
Direct Expenses 8,700
Factory Overhead 6,400
Administrative Overhead 10,300
Selling and Distribution Overhead 12,300
Work-in-progress as on 1st July 2018 14,500
Work-in-progress as on 31t July 2018 11,200

Stock of Finished Goods as on 15t July 2018 17,500

Stock of Finished Goods as on
31st July 2018 13,000

Sales 95,000

Prepare a cost sheet and find out the costing
profit.

ABC QL1 g9 2018 wrsgdharer oiger
Qeee] uwdleyseafladipbg GeaTau@md — SHeUDEMET
QUGS D).

€.
s&gml Qurplsaiienr @ Uy 15 sg®anew 2018 11,500

s&gml Qurplsafier @iy 315 ex®ame 201812,800
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s&5T1 QUITHET auThISLg)

Crrgsame Deqisdlug)

Crirg Caeyger

Qzmnerene Cuopnbawe,ser

Blireurs CuonHblswe,ser

edpuenar wHmid eNFCwTs GCohbgwe ser
uanfl ey Qummer 15t sx®eanav 2018
vanfl wpigeymm Qummar 315 e79ene2018
Wpigeybols Qurmer 15t sx®apa 2018
wigeydoL Qummer 315t sex9ened 2018

NphLener

27,500

17,500

8,700

6,400

10,300

12,300

14,500

11,200

17,500

13,000

95,000

Copsar.  clurhisamers Oaramh L&55 STer

LHOID GOTUSMS ST HlwieLb.
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18. Prepare Stores Ledger Account on the basis of
LIFO Method from the following information.

August 1 Balance

500 units @ Rs. 40 per unit

4 Purchased 400 units @ Rs. 42 per unit

5 Issued

400 units

8 Purchased 600 units @ Rs. 44 per unit

10 Issued
12 Issued

700 units
200 units

18 Purchased 500 units @ Rs. 45 per unit

22 Issued

400 units

27 Purchased 300 units @ Rs. 50 per unit

30 Issued

400 units

LIFO (peDHen vwerU(HiSS) 1G\6treu (HLD

5566 &aT e (Hhg)
SWUTH&s.
&6l 1 @mly
4 Qamerpse
5 Qauafluip
8 Wamerpse
10 CeveafliE
12 CeafliE

5@ CuGrips samssdlaner

500 ww@sd @ . 40 aisb aurmdwg
400 sio@sd @ ep. 42 &isb aurmdwug
400 ow@ser
600 siw@ser @ . 44 eigb eummdwg
700 @i@ser
200 @iw@ser
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19.

18 Qameiipsed 500 oy @ser @ . 45 efisb ammdug)
22 GaalS® 400 seeser
27 GSTEWPSD 300 im@ser @ . 50 6Ssib ek
30 @auefli® 400 si@sar

In a factory, the standard time allowed for
producing 25 units of a product is 1 hour. The
hourly rate is Rs. 11. Workers A, B and C
produced 275 units, 200 units and 325 units
respectively in a day.

Calculate
(a) Wages for each worker on that day

(b) Effective rate of earnings per hour for each
worker under

(i) Halsey Premium Bonus (bonus @ 50%
of time saved) Plan

(i) Rowan Premium method

(i11) Straight piece rate method.
@@ Asmpsraeuid 25 So@Gsmer 2 hHusS Cewiw
Si@wdssriur L Cryb e wenfl Cprm. wewl Coiy
aisd ep. 11 Qamfemerisar A, B wpmidb C wpenpCu
275 JO@GHSHET, 200 JOG&HET LHMHID 325 O GHHET
R BrenaTsE 2 Huss CFiige.
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Qar&sliul L $&a10SmeT C&meaT(h
(@) geadeurm dsmflorafls@d ojeranmw sardluib

(<) @aleurm  OsmflorelsEd e Lo 6wl
CrrsdimeE Liweerer alheumil elllgn

@)  apreCGs GFOwd  Cumrerev  FiLibd
Curered @ 50 gz  VBFFHLESSW
Cpgsie)

(1) Crmeuresr QFOwd e

(i) Cpymer gawr® 6ig e

20. A manufacturing company has three production
departments namely A, B and C and two Service
departments namely X and Y. The departmental
distribution summary shows the following details :

Rs.
Production Departments: A 40,000

B 55,000
C 75,000
Service Departments: X 18,000
Y 15,000

12 1420



The basis of apportionment of service department
costs to the production departments are stated as

follows:

Departments A B C X Y
X 40% 30% 20% - 10%
Y 25% 35% 20% 20%

Prepare a statement showing the distribution of
the service department expenses to the production
departments on the basis of repeated distribution
method.

26 2pusdl flpeuagdad A, B oppid C eerp eper
o HusSH geps@Epnd, X womb Y eearm  @re
Caameus glenms@HD 2 eTeme.
Yereupd  edleugiigener gieawpant alblCuins &m&sid
ST (HE DG
€.
2 Husdls gleopset i A 40,000

B 55,000

C 75,000
Coanaus glanpser 1 X 18,000
Y

15,000

13 1420



2 HLSHSE SIDDEEHS S, Ceamaug glanmudlesr
Qeoe|seamer LSlTeugDHaTar gl GeraimLmm)

GO LUl HeTarng).
glewpser A B C X
X 40% 30% 20% - 10%
Y 25% 35% 20% 20%

WBar(H)bd Berhd  AFCurds@n  pappules
SigliumLule o husHs sopsErsE —Csmeus
gapuier Osoejsamer NHCLTSLILIMNSS ST_(HID
SNsmasOWS SLTHES6LD.

Y
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NOVEMBER/DECEMBER 2020

BSBA36/USBA36 — CUSTOMER
RELATIONSHIP MANAGEMENT

Time : Three hours Maximum : 75 marks

SECTION A — (10 x 2 = 20 marks)
Answer ALL questions.
What is customer satisfaction?
cumgSenswmer (gl eremmmed eremme ?
State any two objectives of customer relationship
management.
aumgseswrart 2 mpe Cuoerarawuiear gGsaib
@rer(® Crrésnisamar @&l (Hs.
Define product marketing.
QummeT shangLILHSHD UETLIDI.
What is meant by customer value?
GUTIG SENSWITETIT SILIL] GTETLIG W) ?
What are the aims of CRM program?
aumgsamswumart  2me| Cuoorameaw S sdler
Crréanise wrenel ?
In what aspects the customer are differentiated?

6TTh® S|DaFBISETED eugdansimeriaem GCouniLiHSmmiger?
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10.

11.

12.

What is meant by performance evaluation?
Qewedper wHIEEH ererug wmg) ?

State the meaning for retention marketing.
S&samallil] shanglL(HSSeler QLUmmeT gnmis.

What is customer database?
QUM HENSWITETIT HTESHETLD GTETMTE) 6T6HTE ?

What is loggers?
ONSEITHET GTEITMITG) GTEHTEIT ?

(a)

(b)

(a)

(b)

SECTION B — (5 x 5 = 25 marks)
Answer ALL the questions.

Discuss the need for customer relationship
management.

QU SESWITETIT 2 may Goev maseren oudl e
Coemauant allerd@s.

Or

State the different types of customer loyalty.
GUTIg SENSWITETIT ellseumssglem e Geum)
cuanssaar &ML [H\S.

Explain customer learning relationship in
detail.
uUTySMSWUTETT  sHmed 2 pevel  ellfleuns
oMlaTsGs.

Or
Discuss the various factors which drived

CRM market in India.

@ndwuraler aumgsanswirert 2 naj Garemento
shmgsew  @usdwu  uLCeum  smyewtsmeTL
ubdl edleumd.
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13.

14.

15.

(@)

(b)

(a)

(b)

()

(b)

What are the various information required
for an effective CRM?

LIwigyleTer GUTIq &EN&WITETIT 2 Mma|
Cueramenns s Coenaeuwimen e Geum)
S&HCUDGET WITE6 ?

Or
Explain the different ground work required
for effective use of CRM.
cumgsenaswmert 2 pe| Gemarenny  LILIGETeT
LweTum g M Coenauwimen e Geum)

SigliuamL Caumagamer 6lemd@s.

Discuss the types of CRM program.
aumgsenswrart 2 me| Cueramenn S L gSler
cuaGSHMET elleuTs.

Or

What are the 1issues arises while
implementing CRM?

GUITI SESWITETIT 2 D& Cuemeirento
Qeweu@sgid Gurg erearblarerear &&saaer
eT(p&lemenr ?

State the uses of technology in CRM C63.
QU SESWITETIT 2 D& Cuevmerenouled
Qamem LsSler LweTrLmhsamer @&l [Hs.

Or

Explain data warehousing in detail.
saeued L@ udnm allfleurs afleur.
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16.

17.

18.

19.

20.

SECTION C — (3 x 10 = 30 marks)

Answer any THREE questions.

Distinguish between traditional marketing and
relationship marketing.

umybufy FHMSLILI(HSHED WHmILD 2 May
sHansIL[HSS0 gHweuneanm CoumuHEis.

Describe the key principles of customer

relationship management.

aumgseswrert 2. ma; Goerarewuler  padlw
Oararanssamer efleu.

Analyse the advantages of customer relationship
management.

aumgseswmeari 2 me| Guerarenouller merenlosemer
uGLUTUe &g,

Enumerate the various process model of
relationship marketing.

2 may sHagLILOSSl0 2 drer LOCaum GFwdepenm
wrdflepw edleu.
Examine the technology tools in CRM.

aumgsemaswmert  2pa|  Goeradreawuid o drer
QamAednL L smellsamer <, Fmiis.
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NOVEMBER/DECEMBER 2020

BEN32 — AMERICAN LITERATURE - 11

Time : Three hours Maximum : 75 marks
SECTION A — (10 x 2 = 20 marks)
Answer ALL questions.
1. What are sterilized contours according to the poet?
2. What does the jar represent in ‘Anecdote of a Jar’?

3. In “Mirror” by Sylvia Plath, why would some
people consider the mirror to be cruel?

4.  What is the chief figure of speech in William’s
“The Yachts”?

5. How might the idea of the Brooklyn Bridge bring
people together?

6. Is “Goose-fashion” redundant?

7. How does Robert Frost attribute the sound in a
poem?

8. What allusions to the upcoming war does Tom

make at the beginning of Scene Five?

1679



10.

11.

12.

13.

What is symbolic about the leopard in the snow in
“The Snows of Kilimanjaro”

In “The Snows of Kilimanjaro”, how does Harry
view money?

(a)

(b)

(a)

(b)

(a)

(b)

SECTION B — (5 x 5 = 25 marks)

Answer ALL questions.

Write a note on the ruined houses of the
crumbling people.

Or
The poem “Mirror” is strongly related to the
theme of feminism. Justify this statement.
Collective and individual conflict’s in the
poem, “The Yachts”?

Or
What makes this particular bridge such a

powerful symbol?

According to “The Figure a Poem Makes”,
How did Frost’s personal life influence his
poetry?

Or

What are some of the American ideals that
are explored in Frost’s poems?

2 1679



14.

15.

16.

17.

(a)

(b)

(a)

(b)

Who is the heroin The Glass Menagerie?
Why?

Or
How is the theme of nostalgia illustrated in

The Glass Menagerie?

“The Snows of Kilimanjaro” by Ernest
Hemingway depicts men with private moral
codes that differ from society’s codes.
Elucidate.

Or

Explain the tile “The Snows of Kilimanjaro’.

SECTION C — (3 x 10 = 30 marks)

Answer any THREE questions.

Critically analyse how Cummings elegantly

portrays the impact of world war upon the

working class?

Why is the style of The Bridge by Hart Crane

unique?

3 1679



18.

19.

20.

Why does Frost choose to write about everyday life
in a rural environment? What is the effect of this
choice on his poetry?

Of the main characters, which face life most
unrealistically? Does this contribute to the themes
of illusion versus reality featured in The Glass
Menagerie?

Explain the strange ending of the story the snow
of Kilimanjaro?

4 1679



NOVEMBER/DECEMBER 2020

BEN53 — INTRODUCTION TO LITERARY
CRITICISM

Time : Three hours Maximum : 75 marks

SECTION A — (10 x 2 = 20 marks)

Answer ALL questions.
1. How does Plato attack poetry?

2. According to Aristotle, which of the following is
not one of the six elements of the tragedy?

3. Which of the following literary styles did Philip
Sydney make important contributions to?

4. Ben Johnson is a contemporary of which titan of
English literature.

5. When was John Dryden served as a poet laureate?

6. Arabella Fermour was the historical inspiration
for which character?

7. Which descriptions serves as a best characterizes
to William Wordsworth?

Which poem’s first draft was a letter to Sara?

In the poem “Desire” what does Matthew Arnold
wish that humans be saved from?

10. Who considered Eliot’s work to be ‘a very great
evil’ and why?

1684



11.

12.

13.

14.

(a)

(b)

(a)

(b)
(a)

(b)

(a)

(b)

SECTION B — (5 x 5 = 25 marks)

Answer ALL questions.
What is Plato’s view on ‘poetry’ and the poet?

Or

Define six elements required for a successful
tragedy?

Why does Philip Sidney in ‘An Apology for
Poetry’ shed light on the creator rather than
on the creation?

Or
Analyse Ben Johnson’s classicism.
Who favours Greek drama in essay of
Dramatic poesy?

Or
In Pope’s essay for criticism, does he show

himself to be a good critic?

What are the similarities of Wordsworth and
Coleridge?
Or

What is Coleridge’s Theory of imagination
and his differentiation of imagination and
fancy?

2 1684



15.

16.

17.

18.

19.

20.

(a) Explain Mathew Arnold’s poetry as a glory of
the vanished past.

Or
(b) According to Eliot’s essay ‘The function of

Criticism’ what are the tools and functions of
criticism?

SECTION C — (3 x 10 = 30 marks)

Answer any THREE questions.

How did the teaching methods of Plato and
Aristotle differ?

How does Sir Philip Sydney’s “An Apology for
poetry” relate to Aristotle and plato?

Analyse Arnold’s essay, “The function of criticism”.

Write a short note on Coleridge’s theory of
imagination.

In what ways does ‘The Function of Criticism at
the present time’ by Matthew Arnold represent
Victorian literary criticism and the Victorian era?

3 1684



NOVEMBER/DECEMBER 2020

BEN54 — INDIAN LITERATURE IN
TRANSLATION

Time : Three hours Maximum : 75 marks

SECTION A — (10 x 2 = 20 marks)

Answer ALL questions.
1. What is the concept of translation?
2. What are the types of translation?

3. Why does the poet appeal to the Wind to come
softly?

4, Can dream predict the future?

5. Write the structure of tales.

6. Who wrote Amar Jiban in 18767

7. Which play Girish Karnad had written first?

8. In which year is the opening scene of Tughlaq set?
9. What are the basic elements in a Destination song?

10. Write short note about R.Shanmugasundaram.
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11.

12.

13.

14.

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

SECTION B — (5 x 5 = 25 marks)

Answer ALL questions.

Differ the correlation between teaching
collocations and the student abilities in
translation?

Or
Does rough ER Morphology change upon
inhibition of translation.
What should we do to make friends with the
wind?

Or
Analyze the poem “I never saw you” by Jyoti
Lanjewar.
Discuss about “Land women’s breath and
speech” by P.Sivakami.

Or
Write brief about Amar Jiban by Rassundari
Devi.
Write Girish Karnad’s symbolism, irony and
humour from the play Tughlaq.

Or

Discuss Girish Karnad’s “Tughlaq” as a
historical play.

2 1685



15.

16.

17.

18.

19.

20.

(a) Give your literary perception view from
Shanmugasundaram’s “Nagammal”.

Or

(b) Discuss your view from the short story
Brahma Viriksha.

SECTION C — (3 x 10 = 30 marks)

Answer any THREE questions.

How can literary translations be subdivided?
What is the main difficulty of translating a word
of high literary merit? What qualities and skills
are expected of aliterary translator?

Explain the phenomenon of Gaddar. How the
culture and ideology been described in this.

Write an essay about Memories of the Marathi
stage.

Summary and analyze of Tughlaq by Girish
karnad.

Discuss the relation of Tamil and Western
Literature.
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NOVEMBER/DECEMBER 2020

BACS32 — STATISTICAL METHODS AND

THEIR APPLICATIONS 1

Time : Three hours Maximum : 75 marks

10.

SECTION A — (10 x 2 = 20 marks)

Answer ALL questions.
Define classification.
What are the four type’s diagrams?
The mean of 12, 14, 19, 15, 13, 18, 11 1is
Define median.
What is standard deviation?

State the different methods for measuring
dispersion.

What is meant by skewness?

Define Kelly’s coefficient of skewness.
Define correlation.

What is regression?

1788



SECTION B — (5 x 5 = 25 marks)
Answer ALL questions.
11. (a) What are the advantages of Tabulation?

Or
(b) Explain the types of diagrams and their uses.
12. (a) Calculate the Median for the following data :

Marks 45 | 55 |59 | 79 | 65 | 56
No. of Students | 12 | 20 | 22 | 41 | 17 | 10

Or

(b) Calculate the Harmonic mean from the
following data:

X|10]12|14 |16 |18 |20

f |5 18| 0 10 | 6 1

13. (a) Calculate the quartile deviation and its
coefficient from the following data

‘ Height (in cm): | 28 ‘ 32 | 18 ‘ 16 | 42 ‘ 12 ‘ 39‘

Or

(b) Calculate mean deviation about mean for the
items.
Class interval | 0-4 | 4-8 | 8-12 | 12-16 | 16-20

Frequency 4 6 8 5 2
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14.

15.

16.

17.

(a) The sum and the sum of the squares of
60 items are 1860 and 67100 respectively.
Mode is 28.49. Find the Pearson’s coefficient
of skewness.

Or

(b) Calculate Bowley’s coefficient of skewness for

the data
X |11 12|13 |14 | 15
f 13 19 |6 |4 |6

(a) Calculate Karl — Pearson’s coefficient of
correlation.

X | 57 |58|59|59]|60| 61| 62| 64
Y | 67|68 | 65|68 | 72| 72|69 |71
Or

(b) Mention the difference between correlation
and regression.

SECTION C — (3 x 10 = 30 marks)
Answer any THREE questions.

Explain types of classification.

Calculate Mean, Median and Mode for the

following data :

Size 10|11 |12 (13|14 (15|16 | 17 | 18

Frequency | 10 [ 12 15119208 |4 |3 |2
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18.

19.

20.

Find Quartile Deviation and Co-efficient of
Quartile deviation for the following data :

X ] 0-10 | 10-20

20-30

30-40

40-50

f |7 11

24

16

6

Find the Skewness and its coefficient for the

following data :

X | 0-10 | 10-20 | 20-30 | 30-40 | 40-50
f 3 5 8 12 34
X | 50-60 | 60-70 | 70-80

f 46 28 14

Calculate rank correlation -coefficient for the
following distribution

X |48 60| 72|62

56

40 | 39

52

30

Y |[62]|78]65]70

38

54 | 60

32

31
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NOVEMBER/DECEMBER 2020

BCS53 — DATA COMMUNICATION AND
NETWORKS

Time : Three hours Maximum : 75 marks

SECTION A — (10 x 2 = 20 marks)
Answer ALL questions.
1. State the purpose of layering in networks.
2. What is WAN?
3. What are the responsibilities of data link layer?

4, What are the fundamental ways by which network
performance is measured?

5. What is the need of internetworking?

6. What are the types of class full addressing?
7.  What is UDP?

8. List the three types of addresses in TCP/IP.

9. What are the two types of user agents in the
electronic system?

10. What is the function of HTTP?
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11.

12.

13.

14.

(a)

(b)
(a)

(b)

(a)

(b)
(a)

(b)

SECTION B — (5 X 5 = 25 marks)

Answer ALL questions.
Elaborate Twisted Pair Cable.
Or
Describe about Local Area Network.

What are the services provided by data link
layer to network layer?

Or

List the different types of carrier sense
protocols and explain.

Explain store and forward switching with a
diagram.

Or
Explain flooding.

What are the services provided by the
transport layer to its upper layer?

Or

Discuss about TCP service model.
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15.

16.

17.

18.

19.

20.

(a) What are the five functions of e-mail?

Or

(b) Brief the different methods of audio

compression.

SECTION C — (3 x 10 = 30 marks)

Answer any THREE questions.
Explain OSI reference model.
Discuss about the ALOHA protocol.
Explain Dijkstra’s algorithm with diagrams.
Elaborate Remote Procedure call technique.

Explain the parts of web model.

1793



NOVEMBER/DECEMBER 2020

BSCS33 — DESIGN AND ANALYSIS OF

ALGORITHMS (SBS-T)

Time : Three hours Maximum : 75 marks

10.

SECTION A — (10 x 2 = 20 marks)
Answer ALL questions.
Define Algorithm.
How to measure the performance of an algorithm?

List the situation where divide and conquer can be
used.

What is selection sort?

List any two problems that can be solved using
greedy methods.

Define — Minimum cost spanning trees.
What is dynamic programming?

State design for reliability.

State any two terminologies on graph.

Define — Hamiltonian cycles.
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11.

12.

13.

14.

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

SECTION B — (5 X 5 = 25 marks)

Answer ALL questions.

Write the algorithms specification.

Or

Describe the procedure of randomized
algorithm.

Explain how to implement quick sort with
sample data.

Or

Explain how to implement merge sort with
sample data.

Write the procedure of Tree Vertex Splitting
algorithm.

Or

Write the procedure for finding Minimum
Cost Spanning Trees.

Write the characteristics of dynamic
programming.

Or

Give the mathematic formulation of 0/1
Knapsack problem.
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15.

16.

17.

18.

19.

20.

(a) Show how graph coloring concepts can be
used to solve a problem.

Or

(b) Explain in order and preorder traversal on
binary tree.

SECTION C — (3 x 10 = 30 marks)

Answer any THREE questions.

Develop an algorithm for finding total strength of
a college and analyze its performance.

Explain the procedure followed in Stassen’s
Matrix Multiplications.

Give the procedure to solve optimal storage on
tapes problem.

Describe the application areas of dynamic
programming.

Describe the procedure for solving 8 queens
problem.
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NOVEMBER/DECEMBER 2020

BCS51 — MOBILE APPLICATIONS
DEVELOPMENT

Time : Three hours Maximum : 75 marks
SECTION A — (10 x 2 = 20 marks)

Answer ALL questions.

1. Define — Android.
2. What is Android emulator?
3. Mention the term — Intent Filters.

4. Write a note on Activity stack.

5. State the term — Content resolver.
6. Define — Data analysis.
7. Write a short note on pop-up menu.

8. State the usage of rating bar.
9. Write a note on Clock mobile application.

10. How testing is performed in android apps.
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11.

12.

13.

14.

15.

(a)

(b)
(a)

(b)
(a)

(b)

(a)

(b)
(a)

(b)

SECTION B — (5 x 5 = 25 marks)
Answer ALL questions.

Explain the feature of Android.
Or

Discuss on Android Architecture.
Write a detailed note on Android File

System.
Or

Explain the Activity Lifecycle.

Give an overview on Binding and Querying
the android service.

Or
Describe the coding for SQLite wusing
Android.

Discuss on Layout styles.

Or

Summarize on Input controls.

Elaborate on Calendar mobile application
development.

Or

How android is used in creating Doodlz app?
Explain.
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16.

17.

18.

19.

20.

SECTION C — (3 x 10 = 30 marks)

Answer any THREE questions.
Give an overview on any two Android applications.
Discuss in APIs and Android Tools.
Write a detailed note on Broadcast Recievers.
Describe about various menus in Android.

Summarize on Weather viewer app.

3 2734



NOVEMBER/DECEMBER 2020

BCS52 — OPERATING SYSTEM

Time : Three hours Maximum : 75 marks

10.

SECTION A — (10 x 2 = 20 marks)

Answer ALL questions.
Define the term — Operating system.
What is Process Management?
What is Priority Scheduling in CPU Scheduling?
Define the term — Deadlock.
What is Main memory?

Distinguish between Pages and Frames in
memory management.

Define the term — Swapping.
What is Virtual memory?
Define the term — File system.

What is meant by File protection?
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11.

12.

13.

14.

(a)

(b)

(a)

(b)
(a)

(b)

(a)

(b)

SECTION B — (5 x 5 = 25 marks)
Answer ALL questions.

Discuss on the services of Operating System.

Or

Explain  briefly the Classification of
Operating System.

Describe the basics of CPU Scheduling and
Scheduling criteria.

Or

Discuss on Deadlock avoidance procedure.

Explain the basics of Memory-address
binding, Logical and Physical address space.

Or

Describe the concept of Memory allocation
and Protection.

Discuss on Segmentation in memory
management.

Or

Explain the Paging memory management
technique.
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15.

16.

17.

18.

19.

20.

(a) Describe the Allocation methods in File
system implementation.

Or
(b) Discuss on Disk Scheduling algorithms.

SECTION C — (3 x 10 = 30 marks)

Answer any THREE questions.

Describe the Process concept, its states, and
process control block.

Explain the FCFS, SJF and Round-robin
Scheduling algorithms.

Discuss on Memory Partitioning, Fragmentation
and Compaction.

Describe the Page Replacement algorithms in
Demand paging.

Explain the Directory structure 1in File
management.

3 2735
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